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Maths - PTA Question Papers &

PTA QUESTION PAPER - 1

Time : 15 mins + 3 hrs Marks: 100
PART-1/ ug® -1
Answer all the questions. omansg alaMmessEnE@GID allenL WefdbsaLb. 14x1=14

1. If{(a,8), (6, b)} represents an identify function, then the value of a and b are respectively
{(a,8),(6,b)} suenzm @m swelldF &y eefsd, a WHBBID b WHIBeMTEIET (LPEHBELI

(a) (8,6) (b) (8,8) (©) (6,8) (d) (6,6)

2. 7% = (mod 100). 74 = (o6 100).
(@1 (b) 2 (©3 (d) 4

3. Asystem of three linear equations in three variables is inconsistent if their planes
(a) intersect only at a point (b) intersect in a line
(¢) coincides with each other (d) do not intersect

epeiil  oTfledsellsy DimInd s cpsiiml Ghflulsh FosiT(heeme OHTGIIIBE HIeHeT ERsvemevbluissy,
SIGHOHTGUILND 2 616 HeNMBIH6I
(o) @81 @m UsteMulsd Geul BLD (o) @ Basm1gsd’ Gloul (Hid
(®) @amlen 185 @eim OUTHbHSHID (F) eeiteppOWITeEl QoL (LT
4. In the adjacent figure £BAC = 90° and AD 1 BC then
Qer@asiur L uLggso ZBAC = 90° wimpib AD L BC aiaflsd

(@) BD.CD = BC?>  (b) AB.AC = B(C? (¢c) BD.€D'=.4AD* (d) AB.AC = AD?
5. The straight line given by the equation x = 11 is A
(a) parallel to X axis (b) parallel ¥ axis
(c) passing through the origin (d).passing through the point
x =11 atenids QaTHBSULLL  CHICHTL 1960 FLDGIILITL M6 B L ¢
(o) X o15566 Seneam (=) Y —oiFasg Qeven
(8) apdgsiefl auflsF GFsvavId (") (0,11) er6i3  Lsiterl  euflFGFeLVID

6. If (sina + cosec @)? + (cosa + seca)? =k + tan? a + cot? a then the value of k is equal to
(sina + coseca)? + (cosa +sec a)? = k+ tan? a + cot? a staflevo k —eir &I
(@9 (b)7 (©)5 (d)3

7. The total surface area ofa cylinder whose radius is § of its height is

56mh?

€)) 9%:12 sq. units (b) 24mh?sq.units  (c) % sq. units (d) 5S4 units
@R 2 mHmenWilei QD DB 2 WFHHE0 (paled @ LK@ 616Ned DiFHeit Gomd sl Lyl
9mh? . . 8mh? ) 56mh? .

(=1) — & OIS B (o) 241h? F.o0@5s (&) —— F-ONGEEN () —— F.SI0@S6T
8. Which of the following is incorrect? CBTHHBLILL_LneIH6ME0 61%H HEIBTedl?

@PA>1 bo<sprPA)<1 (c)P(@) =0 () PA)+PA) =1
9. The sequence =3,—3,-3 .......... is

(a)an A.P only (b) a G.P only (c) neither AP nor GP (d) both A.P and G.P

—-3,-3,=3 ... oL THHMmBW COHTLT eufleng?

(1) WL BHOHTL aufleng (&) QUBBSGHSH OHTLT euflens

(®) Gipmemi_ GyemiBld Di6V6V (F) gl BHOSHTLY BmIDd CUmHBEGHSHOBHTL
10. The LCM of x3 — a3 and (x — a)? is x3 — a3 wbpib (x — a)? et 18.4.10

(@ (- a’)(x+a) (b) (x* — a®)(x — a)?

() (x —a)?*(x* + ax + a?) (d) (x + a)?(x% + ax + a?)

11.1f n(A) = p,n(B) = q then the total number of relations that exist between A and B is
n(A) = p,n(B) = q sielev A oppid B 5@ BB &Sl s@id Conshs 2 _meysHele 6lewieni bemndd
(a) 2° (b) 2¢ (c) 2v+4 (d) 274
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12. If the HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is
65 wBpib 117 eudweuBplsi 15.0uT.eu-em6u 65m — 117, steiii augelsd s1(paId Gumg M —6ir LI

(a) 4 (b) 2 (1 (d)3
13. The sum of all deviations of the data from its mean is
(a) Always positive (b) always negative (c) zero (d) non - zero integer
FyrFflulelmbal SenLsHCOUBB HIe|lILeTeMaeEnmLul elevdbsnhisee dn[hHdHe0Teald]
(&1) eiiQUTR&ID Wens  6TemT (=) eIIOUTIPSHID GHemM  6T600T
(®) yFdwio (F) YFAwoBB  1PpLpSHSH6IT
14. The angle of elevation and depression are usually measured by a device called
(a) Clinometer (b) kaleidoscope (c) Periscope (d) Telescope
JBBHEHTWID BB BBHHdhCHTemmhiGamsen SleNelBLD H(He
(1) SBwimLemevr- (=) smeoLmarvBsiis (&) Guflerv@asil (7) OxTe»6u8HIHS
PART -1/ ugd - II
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20

10 ellonmmssEnsa elenLweflds. ellenm e 28-5@ SLLTWLOTS elenl W6l SBayb.

15. A man has 532 flower pots. He wants to arrange them in rows such that.each row contains 21
flower pots. Find the number of completed rows and how many flower pots are left over.
@M BUfLD 532 ybesTlssT 2 eenar. oauf euflndsd 21 L4BOSTLYS6T e DibhdHs eNHOLI6T.
THHME GUFleNFH6T (LPIPSHLD GLIMID eTeneYlDd LOBMILD 6T1HmeN LHOSHTLI9FH6T LEHLOBHEGLD 6T SHT6wIH.

16. Solve: x* — 13x2+ 42 =0 Syde: x* — 13x2+42 =0

17.1f Ais of order p X q and B is order g X r. what is the order of ABiand BA?
el A—uier auflews p X q wBpId oewll B —ulenr alfleng g X.7. Qm iewidemenud OLBHSHS (LPIQUILD
etenllsv AB oipid BA sudluwieuinilen euflengenuics Hmemr.

18. A relation f is defined by f(x) = x? — 2 where x €{-—2,-1,0,3} r
(i) List the element of f  (ii) Is f a function?
f aeim 2 _meurengl f(x) = x2 — 2 aon  auenJpIbsLUUGABE. BHiG
x € {—2,—1,0,3} 1016 Qsmemimed (i) f6i1 2 mitijHementl L 1guied(Bb.
(i) f sueng @@ FTyur@Lom? '

19. Show that APST~APQR. APST~APQR et601 Hlmie)s. 2

20. A tower stands vertically on the ground.From a point on the ground, which is 48 m away from the
foot of the tower, the angle of elevation of the top of the tower is 30°. Find the height of the tower.
Q@M GCaTUrd HorsGHF  OFheHHTe 2 sengl. CamUrsdlen igliuGaHulelmbs Hemguisd 48 16
OsTemeualsh o sitens.m Leefuledmbs Csryr o &Ffuler gbmaCsmaud 300 safley, Gamyyshs e
2 _UITHMDHH HT60IH.

21. The volume of asolid right circular cone is 11088 cm3. If its height is 24 cm then find the radius of the cone.

QM CHTeULL & (nlbien Geur o616 11088 &.0F.15 PGID. FiDlledl 2 WD 24 OF.L5 6T6uM6L, DH6T UJID BTN,
1

22.1fP(A) = §,P(B) = %,P(A U B) = - then find P(4 N B).
P(A) = %,P(B) = § wigy P(AUB) = %aeﬁﬂsﬂ), P(ANB) m& srems.

23.Find Ax Band A X A forA ={m,n}; B = 0.
A =i, n} wigio B = @ stefled (i) A X B wimib A X A snewis.

24. Find the middle term(s) of an A.P 9, 15, 21, 27 ...183.
9,15,21,27 ..183 eieti3 gl (bd OHTLJouflengulled BB 2 _MIIL|HM6NE HT6wIS.

25. The product of Kumaran’s age (in years) two years ago and his age four years from now is one
more than twice his present age. What is his present age?
Greler  SBEUTmHW  euuFHer  QEWLRICHTH  @ReIBH  FnllgenTed  SlewLLILGI,  GLOJ6dNedn
BRI TeI(HHEHHE (WPhemHW aILmBUID ieuflel 4 UenihEHEhHGU Lhensdul alumBUD CLhHHd
SOLLILSBGHF FIOD 616060, faufledl HBOLITHSHUI GULIHSHS BT,

26. Find the equation of a line passing through the point (—4,3) and having slope — %

5

H

(—4,3) 616013 LisTTeMUT60T 6D @&m@m—gg FMLINTS 2_6nLWIGIOTe GhIHGHTI_I96H FLOGTILITI 6Nl HTEIH.
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27.

28.

The standard deviation of 20 observations is V6. Is each observation is multiplied by 3, find the
standard deviation and variance of the resulting observations.

20 syel Usitefssit GaT@HSILIL  eleuydhdsn Sl Lelsvisd V6 e QeI HIeYll Lsefud 3160
CUmHBSLILLLTEL Henl_S@&HID. HIalll Lstefaeilsn S Lelevbsid wBBID 6l6vbhs 6lfbsF FITF] SHTewIH.

An organization plans to plant saplings in 25 streets in a town in such a way that one sapling for
the first street, three for the second, nine for the third and so on. How many saplings are needed to
complete the work?

QM Bpeusd 25 05meHefed OFgsemen B HULIOLH. 1PpHed OHmelsy 1 GFQud, EFemiL Telg]
Oamaisd 3 GaFguid, apemragk OFmelsd 9 GFguid BL (Wige] GFUIWINILLL &I, @6ICanImsv
BlenmpeusnL Wl eihHemen FigdHen Camemeu?

PART - 11I/ ugd - III

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

10
29.

30.

31.

32.

33

34.

35.

36.

elemesEhHE alenLWeids. elenm olewmr 42-6@ SLLTWIOTS 6lenL WedaaLD.
The function t which maps temperature in Celsius (C) into temperature in Fahrenheit (F) is defined

by t(C) = F where F = EC + 32.Find (i) t(0) (ii) the value of C when t(€) = 212

(iii) the temperature when the Celsius value is equal to the Fahrenheit value.

t e gmjumensl  QFsvdwendsd (C) o eiten  Geulumensuenudyd, Ungeieansiiged (F) o siten
Qe IuPesvemWIUID BRevemisGl FTUTEGD. Guad gl t(C€) = F e “auenguimibsinn Lisd  (Qnis.
F = %C +32) (i) t(0) (ii) t(C) = 212 sy AméEw Gurg C—e A (iii) OFsodulerd  1&LD
urgerel. UL Fowrd SHEGL CuTpasl CeuluBened < ARIBHBS HT6NwIH.

Rekha has 15 square colour papers of sizes 10 cm,11 cm, 12.cm ,... 24 cm. How much area can be
decorated with these colour papers?

CrameiiLip 10 GF.18, 11 GF.15, 12 GF.16... 24 QF.16 61B Lisd SieRsTTeN 15 FHIT QIQ6) 6)6HT6N0IH HTHIHHIBET
© 6iTeel. @b 66NN HTHHHIBMENH GHT6NIbH 6161aIeNe| LITUNL SeDL_GHHI D6UhIESGS (LPIQUD?
1fA=[ ] B= [ ] c=[3 4 6]ver1fythatA(B+c) AB + AC.

A= (_11 ;),B = ( 14 ;) C= ( 37 6) eialeo A(B + C) = AB + AC eaisiuenss Fflunijés.

State and prove Pythagoras theorem. Usnarey CaBpeHemsd 61108 Hmie)s.

. As observed from the top of a 60m high light house from the sea level, the angles of depression of

two ships are 28° and 45°. If one ship is exactly behind the other on the same side of the light house,
find the distance between the two ships. (tan28° = 0.5317)
60 15 2 wg(psiten HeVmIG]T, alendshHe 2 FHulelmbsd @MmaI] HL 60D L HHEVI6TEN S HLILIGODH6IT
(wpemmC 28° oBmih 45 @mHesCaTamsdsd LTISEBT. m LU HOBI® SLLEIGEL Lsmemen
@0y FHwguied Hevhismy oleNbshHoI 601 ChJECHT 1960 2 6ilengl 6660, @ATewiB  HLILIGVHEHHEGD
@emL_Buiujeiien  CIBTENEVMEIEG  SHTEmISH. (tan 28" = 0.5317)
Find the number of coins, 1.5 cm in diameter and 2 mm thick, to be melted to form a right circular
cylinder of height 10 m and diameter 4.5 cm.

2nurip, 10 GF.15 wBsid el Lib 4.5 GF.15 2 e w @m Chyal L 2 memenedul o Haurds 1.5 QF .15
N LD, 2 16115 Higioehi QBTEmIL 61HSHmen ol L ellevensvdsit BHemel?

The marks scored by the students in a slip test are given below. Find the standard deviation of their marks.
a@ls Bxiyelsy wremeusel QUBB  WHUCUeIHeT &6  CBTHHBLILIL(HeTeNer.  DieUTH6r 6
HUOLTIBEHEGHD HI L ellevddld HTewid. | x |4 |6 |8 |10 | 12
fl713]s5] 95
Let A = The set of all natural numbers less than 8, B = the set of all prime numbers less than 8,
C = the set of all even prime numbers. Verify that A x (B —C) = (AX B) — (A X ().

Aeaeiiugl 8 m alLd GHowmeuten @uiev elewnigkeler Hewild, B e6iiligl 8 & llLd @GHenmeuTen LST
eTeuiTeb6N60 &emTlD LoBEID C 6T6illigl ST 6Ll LehL LIGT 6l601b6N60T SH6milD 6l6uMl6v,
AX(B—-C)=(AXB)—(AX C)eeng sfunjbs.
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37. If S,=(c+y)+&?+xy+y?)+ (3 +x%y+xy?+y3)+--n terms, then prove that
( _ )S _ xz(xn—l)_yz(yn—l)
X=Y)on = x—1 y-1
Sp,=@+y)+@x2+xy+y) + 3 +x%y+xy? +y3) + - no_giysst aefsd

E"-1)  y*"-1)
x—vy)S, = - .
( Y)Sn x—1 y-1
1 1 1 11 1 1 1 4 2 .. 1 1 1 11 1 1 1 4 2
38.S0lve: —+———=-;-=—;-——+4+-=2= FEs—+t———=-;-=—;-——+-=2—
2x 4y 3z 4" x 3y " x 5y z 15 2x 4y 3z 4" x 3y " x 5y z 15

39. A funnel consists of a frustum of a cone attached to a cylindrical portion 12 cm long attached at the
bottom. If the total height be 20 cm, diameter of the cylindrical portion be 12 cm and.the diameter
of the top of the funnel be 24 cm. find the outer surface area of the funnel.

@ 2 memenuilen 15&H @F enlL HHWILID RenembSHAITH DeDIDbHS @@ Leneden QIbTHEH o UIglD
20 GFa8 o mewenulsnr 2 wigib 12 GQF.15 wBmID el LD 12 GF.16. D@&ID. Qv iboamiidHaen GLobLms
el LD 24 Q&.16. etelev, Ljemedlen GeueMimll UFlienLd Hewlbd [BHb.

40. In a class of 50 students, 28 opted for NCC, 28 opted for NSS and 10 optedfor both NCC and NSS. One
of the students is selected at random. Find the probability that (i) the student opted for NCC but not
NSS (i) The student opted for NSS but not NCC (iii) the student opted for exactly'one of them.

50 wrewaljsst o siten @@ auGLLlev, 28 Guy NCC —ulanib, 28 Guif. NSS <eund opmip 10 Guy NCC
wpmid NSS-eoib  CFjamnisei. @@ omewion] Fwaumuili] (pemmUlsd »CHIHOHBHHSI ILIGSBTT.  Dial]
(i) NCC—ulev @mpal, <pemmed NSS-60 @evevmiosd (i) NSS —60 @mib&1, eumsd NCC —uflsd Gevevmiosd
(iii) eeti@m epeiiiled L (B0 CFJbdH BHULSBHTEN B HLIGHHIBENENH  HTIIH.

41. The base of a triangle is 4 cm longer than its altitude. If the area of the triangle is 48 sq.cm, then
find its base and altitude.

QM  (PHECHTMBHH DPLILISBD DHN GHHUTHMS ol 4 CF.15. AP0,  (PpoHCHmTemnidha e
ugtuene) 48 F.05.15 eafed, DH6HT QUILIGHIDAOBBID GHHHIUWTHDHET D66 HEN6TD  HT6TIH.

42. The area of a triangle is 5 sq. units. Two of its vertices are (2,1) and (3, —2). The third vertex lies
on the line y = x + 3. Find the thirdwvertex.

QM (WP&HCaETeHA ugin] 5 Faif Sev@ser, (2,1) wimid (3, —2) st B (WpevaiLiLsiTeeber,
Yy =x+ 363 CrysHGHmLigam Abg apsiimreus (WensuliLsiell DIDIOBHBHTEO DIHEM6d  HT6uIH.

PART-IV/ ugd -1V
Answer the following. Sipsstamid elamesensa efenLwefldaa)L. 2x8=16
43. a) Draw the graph of y =x? + x — 2 and hence use it to solve the equation x?> + x — 2 = 0.
D) y=x%+x—2 36 GUDJULID 6UMIHBHI DIFH60 (LPsVID X2 + x — 2 = 0 61603  FLOGHILITI_I96M60H  HIHHALD.
(OR)
b) Solve:2x+ y#+ 4z=15x -2y +3z=13,3x+y—z = 2.
) HyHH i 2x +y+4z=15x—-2y+3z=13,3x+y—z=2.
44. a) Construct a triangle similar to a given triangle ABC with its sides equal to S of the corresponding
sides of the triangle ABC. (Scale factor E )
o) @snBssi L (pHCsTewid ABC-ulen @dbd ubsBIBeM6 ald s S 6160 SIMWOTHI @
QORITHS (HCHTEWID 6UeNTH. (Di6Te)y HTT6ewi g) (OR)
b) ABC is a triangle £B = 90°, BC = 3 ¢cm and AB = 4 cm. D is a point on AC A
such that AD = 1 cm and E is the midpoint of AB. Join D and E and extend
DE to meet CB at F. Find BF. E
1) OaThssiu L upsBasmamd  ABCulsy 2B =90° BC =3 Gs.15  obpib
AB = 40515 g@b. AD = 10515 eeipeurm AC uleit 0g D etgmid Lsiteril  F B 3 C
o eitengl. AB —ei1 emowllieitell E oy@ib. D wpmpio E 3 @eneumidsh CB
F—v spgamomny DE—xm bl bs. BF —md srenis.
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PTA QUESTION PAPER - 2

Time : 15 mins + 3 hrs Marks: 100
PART-1/ ugg® -1

Answer all the questions. simeanbg elambssEns@GL alenL Weidasan|. 14x1=14

1. If f: A — B is abijective function and if n(B) = 7, then n(4) is equal to

10.

11.
12.

f:A - Besiug @m @oups &rjy wimpib n(B) = 7, ey, n(A) ouegs

@7 (b) 49 o1 (d) 14

If there are 1024 relations from a set A = {1,2,3,4,5} to a set B, then the number of elements.in B is
A=1{1273,45} -9mbs B aaim sausdbeE 1024 o _meymsit o eiengl  elafled  Bi=e0 2 eiten

® WIILBH6T6T 6TevTemlhend . (@3 (b) 2 (c)4 (d)8

311 1, 1 1 2 1
The next term of the sequence LTI T LA (a) ” () P (© 3 (d) o
311 1 . . . . . 1 1 2 1
To's’ 12 1a - OO0 eaTLgauflengulsn SBHH 2 miiy__. (1) i (=4) Py (®) 3 (%) ~

Which of the following should be added to make x* + 64 a perfect square?
x* 4+ 64— (1P QUTHHIOTG THB SIS CIHMNDS Fnl L ColewiBLD?

(a) 4x? (b) 16x2 (c) 8x? (d) —8x?

The excluded value of the rational expression xf;g_g is_L (@8s (b)2 (©)4 @1
x2x_3;8_8 ot PHpm Caremeuulsn elevdsinn L A . (21)8 (o) 2 (®) 4 ()1
Graph of a linear polynomial is a

(a) Straight line (b) circle (¢) parabola (d) hyperbola

® Crflu usdepIts CHTensuule susHILILLD. e

(1) CrisH8sT(H (&) el Lib (@) Lreuswenuib (F) SidHugaisnemud

A tangent is perpendicular to the radius at the

(a) centre (b) point of contact (c) infinity (d) chord

R el LGHFHer rupd OHTEESHTHID. CFhIGHHTH DeMIDU|D G 1D

(&1) emowid (=) CprGLsiTe () wpysiled (%) mrmeudr

The area of a triangle formed by thepoints (—5,0), (0, —5) and (5,0) is

(a) 0 sq.units (b) 25 sq.units (c) 5 sq.units (d) none of these

(—5,0), (0, —5) wBmiD(5,0) ndui LsTeMsenTed HNemDSEBILGD (PeGHTamhalen Lyl

(21) 0 . 2100@ 560 (@) 25 s.o10@36T (&) 5 F.9160&HB60 (7) BouBplev eI Ol6LEMED

The point of intersection of 3x —y =4 andx +y =8is
3x—y=4uomsibx +y = 8 yaul CrjCarhamsT Fhaldb@D Lsief

(@) (5:3) (b) (2,4) (©) (3,5) (d) (44)
If 5x' = sec@ and% = tan 6, then x? — é isequalto __. (@25 (b) % (©5 d1
5x'= sec 0 wipib > = tan 6, aiaflso x% — = s wHy . (9025 () @5 @1

sin(90-0)sin6 = cos(90—6) cos O .
— P = (@)tanf8 (b)1 (o)—-1 (d) sin@

The height and radius of the cone of which the frustum is a part are h; units and r; units
respectively. Height of the frustum is h, units and radius of the smaller base is r, units. If
h,:h, = 1:2thenr,: 1 is

B HHMIL_HMGH @ LGHUWTEE QBT eh Fnldlledl 2 Wiy woBBId pwJio (WpeopCul hy De0EGHH6H
LOBBID Ty DHVGHB6IT UG, ML BHemi_GHeil 2 wigid wBpId Sfiur LdsHH HJD 1WensBul A, DievEEsi
LOBMID 7, DISVSGHSBET H@ID. GLosvid hy: hy = 1: 2 etedl60 7,1 17y —601 1S :
(@)1:3 (b)1:2 (©)2:1 (d)3:1
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13. The range of first 10 prime numbersis __. WPH6L UHH LIST 6lemidberien eiFdi__ .
@9 (b) 20 (o) 27 (d)5
14. The average of first ‘n’ natural numbersis__. psHs0 N’ Quisd erewiseien agraf__.
(a) "2 OF (©= (dn
PARTII/ ugd Il
Answer any 10 questions. Question no. 28 is compulsory. 10x2 =20

10 elemssende olenWelos. ellemm o6 28-6@ SLLTWIOTS elenLWeilibsa]Lb.

15. Arelation R is given by the set {(x, y)/y=x?>+3,x € {0,1,2,3,4,5}}. Determine its domain.and range.
R aeis 2 _mey {(x, y)/y=x*+3,x€{0,1,2,3,4, 5}} o QOBTHHSBLILIL BEIT6NEH]. . B H60
WHUIUBHMBUID NFFHHMBUID BHTE0T5S.

16.If f(x) =x2—1,g(x) =x—2,and aif g o f(a) = 1.
fxX)=x>—-1,g(x)=x—2, ommb g © f(a) = 1 aafled a —m& Srems.

17.1f A and B are mutually exclusive events of a random experiment and P(not'4) = 0.45,
P(A U B) = 0.65 then find P(B).
Q@M Fwoaruiys Ganmmenulsd A,B sypdluwiensn  getenpwimeinl _elevd@Gld BlepFfsen, Gosvild
P(A @svemev) = 0.45,P(A U B) = 0.65 aiaiflsd P(B)-36 &emisb.

18. Dividing the polynomial p(x) = x? — 5x — 14 by another polynomial q(x) yields % then find g (x)

p(x) = x% — 5x — 14 a1t LsLIMILILSBCHETmaImW G (X) 616D LIsLeUBILILEG CHTMAILITE 6IEHS i—;;
oIgnIlD el BlenLb@mal elaled q (X)W BM6wIS.
V7 -3
19.1fA=(|—y/5 2 | then find the transpose of - A.
V3 -5
V7 -3
A=|—5 2 |eafed, (—A)-601 PenIByed LOTBHI DiewleNuid HT6EmIs.
YER

20. If AABC is similar to ADEF such that BC = 3 cm, EF = 4 cm and area of AABC = 54 cm?. Find the
area of ADEF.
AABC ez ADEF —6@ angleinsgemel: Gosuid BC = 3 @&.16, EF = 4 QF.15 woBBId (pHGsmemniid
ABC —uisit upiiy= 54 Q515" etoflad, ADEF-ulsht LJlIenLI& ST,

21. Find the slope of a line joining the points (sin 8, — cos #) and (- sin 6, cos 0).
(sin @, — cos 0) wimud (- sin 6, cos 6)siens  Lsiteaamsen Renemib@id Chid GHI g6 FUImesh HTewH.

22. The hill in the form of aright triangle has its foot at (19,3). The inclination of the hill to the ground
is 45°. Find thelequation of the hill joining the foot and top.
(19,3) stetip  Lsiallentily, SiguiNbs CETamIL  Geaipreag CFmGsra  (1p&HGaTa  algelsd 9 _sileng|.
SMIUL6T GBI gBLUBSSHID FTileysECasTand 45° aaflsh, @Gamisr g WwBBID 2 Fdmu EamamtdED
CamL 196 FIDSTUITI 6L & HTEwIH.

23.Findx sothatx + 6,x + 12 and x + 15 are three consecutive terms of a Geometric progression.
X+ 6,x+ 12 oBmid  x + 15 eeiiueyr @b OQUBBSGHSH OHTLT euflengulenr GHTLFEFFwITe syl
o MIYSE6T 6l6fllsy, X —60T DS IENLIS ST,

24.1f1+2+3+4+ -+ n=666,thenthefindn.1+2+ 3 + -+ n = 666, slatiled, N —6il WAL IHLS BTEWIb.

25. Find the angle of elevation of the top of a tower from a point on the ground, which is 30 m away
from the foot of a tower of height 10v/3 m.
10V3 18 o wyapsien  GasrrsHst  onguledmhbs 30 1S Gsmenevelsd  Hevgulsd o siem @
ysitefulledmba CaTyrshalen o Fduilen ebmaCaTamsmebd HTemism.

26. The ratio of the radii of two right circular cones of same height is 1: 3. Find the ratio of their curved
surface area when the height of each cone is 3 times the radius of the smaller cone?
FI0 o _WphismeTuenLwl @m GhJ eIl lLd gwniblseien JmhiseT 1:3 el eldmpshadled 2 _eiere.
galblseiler 2 wgld HAplul Fniblledt STHSHI6N el DL hIE 61660, aIeneNLTLILEeMeT aldHD HTemnis?
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27.1f two positive integers p and q are written as p = a?b® and q = a3b; a, b are prime numbers, then
verify LCM(p,q) X HCF (p, q) = pq.
Bm WmE (WIpHSBsT P DI ¢ ydwepems p = a’b? wipib ¢ = adb am aps Bweud, a,b
SIGHILIGN LIS 6T6udiaseil elenion, 1.0um (p, q) X B.0ume.(p,q) = pq eend Ffurysbs.

28. Find the number of spherical lead shots, each of diameter 6 cm that can be made from a solid
cuboids of lead having dimensions 24 cm X 22 cm X 12 cm.
24 0515 X 22 Q.15 X 12 Q&6 oieneyeien &eF QFsieus elgen Ful HewiosHelmhaH 6 CF.5 el L
SIGOYH6IT FUID G6NIBHBH6T 61HHNG 2 (HEUTHEE0TLD.

PART - 1II/ ugg - 111
Answer any 10 questions. Question no. 42 is compulsory. 10x5 =50
10 elemesends alenLeiss. ollenr eewr 42-6@ S LTWIDTS elenLWeflssab. [ 2
29.In the figure, the quadrilateral swimming pool shown is surrounded. by
concrete patio. Find the area of the patio.
BIBET  algel  HFFEL  GHoNHIH6  STHIHF. 2 6M(IpBBIOTENS] LI GHl60
ST IQUIETTONLIG  DIWIDSHBLILIL (B6ITeNd 6T6u6d, 2 6T(LBMEHSI6 LFLIL]| &HT6vIH.

30. State and prove Thales theorem. @xsverd CaBBHMS 6119F HlebLil,

31.If f(x) = x — 4,g(x) = x2, h(x) = 3x — 5 then show that (fe g) c h = fe (g o h).
fx)=x—4,g(x) =x% h(x) =3x —5aafev (fog)oh =fo(geh)seams &m Bso.

32. (i) Find the least positive value of x such that 67 + x = 1(mod 4).

(ii) Solve 5x = 4 (mod 6).
(i) 67 + x = 1(mod 4) eeusBE CUTHHSHH QU GHOBBESLIL F L0end X —2M& HT6wIsb.
(i) Sysds 5x = 4 (mod 6).

33. The houses of a street are numbered from 1 to 49.Senthil’s house is numbered such that the sum

of numbers of the houses prior to Senthil’s house is equal to the sum of numbers of the houses
following Senthil’s house. Find Senthil’s house number.
Rm OCxmaleien aihaendd 1 WPpHeL 49 auedy CHTLIFFHLTEd HHM6VHBD CULPHIGBLILIL BTN
Capdeden ol 19BE (PHINIHTH 2616 SI(HH6M6T HHANEVHHRIBET nl (BHOHTMHUWITESHI C\FhH eVl
ol B@l Uemesrs 2 sien eihseler ssailsodsnaeisn gn BHOHTmBHEGHF FOD elallsd GCFbHaelsr
ol Bdb BHNVHBHMBHD | BHT6TIH.

34. A coin is tossed thrice.Find the probability of getting exactly two heads or atleast one tail or two
consecutive heads.

@ [BTENILILD | (ol (ewB &6wiL LILBGSHBH. FHlwns SFenih HemevdHsT DIeL6VFHI GHMBHIULFID @
U 21606051 SIBHHBHEH Srewih HmeudHe SHenL LILSHBHT6N B HIDHHEN6UD HT60ISb.

35. The temperature of two cities A and B in a winter season are given below.

Temperature of city A (in degree Celsius) 18 20 22 24 26

Temperature of city B (in degree Celsius) 11 14 15 17 18

Find which city is more consistent in temperature change?

@yemi® bBIRBT A (10) B—ulshi @elllf &Tevddev Meveyd GeuliLBensy SieaymsT S8l Gbm(hdbaiiL (BsiTere.
BBJD A —6r Geuliuplensy (19dfl GQFsvdluiend) 18| 20|22 |24 | 26
BaJD B —uler Geutiupensv (19alfl GFsvdwerd) | 11 | 14 | 15| 17 | 18

61b® BHILTEIH GeuliLplensy WLTBILTHH6MEL HHLOTE Hlenevd SHeend GlaTeuHI?

36.LetA={xeW/x<2},B={xeN/1<x<4}and C = {3,5}. Verifythat Ax (BUC) = (AxB) U (A X ().
A={xeW/x<2},B={xeN/1<x<4}w)C ={3,5}ewtis, AX(BUC)=(AXB)U((AXC)
6TEOLIGNGHF  FFILINTEE.
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37. Vani, her father and her grand father have an average age of 53. One half of her grandfather’s age

plus one-third of her father’s age plus on-fourth of Vani's age is 65. Four years ago if vani’s
grandfather was four times as old as vani then how old are they all now?
FSTHBT, HhHemd, auTenll AUl cpaufledt FImFf eulgH 53 UG, HTHBHTANO QLIS LTS, Hibenduiledr
QILIF6L Apelell @h UMIE WBHBID eurenlulel aIuIglsd BITEHed @@ Lk pSueBplel dnbHs0 65
G0, BTG UTBHHEHHEG (W6l HTHSHTals alulghl euTewiulen euulem S CUTEL BTG LOLMKIG
eTealeL  cpafledl HBOHTMBUI QIUINSHH HT6uIH 7

__[cos@ 0 __[sin@ 0 5 ,
38.174 = | ] c(?se]’ —[ 0 < o] then show that 42 + B2 = 1.
_ [cos _ [sin o 2 . '

A= [ 0 cos 9]' [ 0 sin 9] eteals0 A“ + B I etemiés ®BM_(Hb.

39. A metallic sheet in the form of a sector of a circle of radius 21 cm has central angle©f216°. The'sector
is made into a cone by bringing the bounding radii together. Find the volume of the cone formed.

QM o L CHTEMILGE algalsy 2 _6iTen 2 _Goutds HHllgsn <uJid 21 Q.15 wBmIb. eowisEGsTemid 216°
G el L CHTewI ILIGHUTEH HPIHIBDT SenemidHdl 2 HOUTEBILBID FnlbLT6 H60l, DIETnaId HT6wIb.

40. A shuttle cock used for playing badminton has the shape of a frustum'of'a cone is mounted on a
hemisphere. The diameters of the frustum are 5 cm and 2 cm. The height of the entire shuttle cock
is 7 cm. Find its external surface area.

@ OBE® ubder CuBUID gnblleh SenLbHemiL  euigelaib,  SPLLBED DimFECHTEN  algalsvID
2 66Nl DN HHWIL HAHl6 L midseT 5 0F.15 wBpId 2 OF.0 Hed, BBSUBH 6N CLoTeHsh 2 WD
7 QF.18 YHad SHBGHTETEL, SBEL UbH6 LMBLILITHINLIG SHT6midb.

41. A motor Boat whose speed is 18 km/hr in still water takes\1 hour more to go 24 km upstream than
to return downstream to the same spot. Find the speed of the stream.
Bemeowimesr HRlsv 18 A/ el Gousbdev OFevedd @f  @UWIHATH UL ST 24 HS SHMrHms bl
FHenFulsv sLBEGHID CHrHemsd el Hflen IHiTHenguled &L bs FnhHeoTd 1 WwaGryD CHemeulIBa B
b6l Geusbld HTenich.

42. A 1.2 m tall girls spots a balloon moving with the wind in a horizontal line at a height of 88.2 m from
the ground. The angle of elevation ofthe balleon from the eyes of the girl at an instant is 60°. After some
time the angle of elevation reduces to 30°. find the distance travelled by the balloon during the interval.
@@ Spudullst o wimb 1.2 15 Y&D. 882 15 2 wpHdHe0 SenL ol L 1oTd STHBH60 HBHHD LIGITEN6
Siau6T SHemgulsd Bemeurm LTTHEBIsT @ Lstenulsy ugrefen gnmpaCstanid 60°. Anig CrrsHssd
BeBTH Ustefulsd LsiTefsr gbmaCatamid 30° ouEs GoBEBS. Bbs S GCaefulsh LeTe
BLHSH HMTHNHH HIGHISH.

PART -1IV/ uggd -1V

Answer the following. Sipssnamid elamesseEnsad alenLwelssaL. 2x8=16

43.a) Draw the graph of = x> — 5x — 6 and hence solve x? — 5x — 14 = 0.

Oy = x%—5x—6—ulel euemIULID eImIhE, SNl LWELGHSH X2 —5x —14 =0 e@m
GLOGIUTL DL & HTHBHO|LD. (OR)

b) Find the values of a and b if 16x* — 24x3 + (a — 1)x? + (b + 1)x + 49 is a perfect square.

a)t6xt —24x3 + (a— Dx?+ (b + Dx +49 aeiug @® @ ojEshd ealsd a wpmid b
S BIBB6T DFH LGNS  SHT60Ib.

44.a) Take a point which is 11 cm away from the centre of a circle of radius 4 cm and draw two

tangents to the circle from that point.

SN) 4 OF.18 Fupsiten el LD eIemfhHl DB emwwbHeddmbEH 11 OF.15 CQHTensvailavieisn e
ysiteMenwids @Misal ilsiTenuledmba oIl L HHBEG Brenid QHTHEBTHHSIT 61|66)uaa (OR)

b) In figure QPR =90° PS is its bisector. If ST L PR prove that

ST x (PQ + PR) = PQ x PR. ;
) uLsHe0 2QPR =90° PS syeng LP-Qett  Bmawbautg.  Gogyid
ST L PR eaflso ST x (PQ + PR) = PQ X PR eien Blpioys. Q S R
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PTA QUESTION PAPER - 3

Time : 15 mins + 3 hrs Marks: 100
PART-1/ ugd -1
Answer all the questions. oimeaisg alaMmessEHESID alenL WeNbHaLD. 14x1=14
1. A={a,b,p},B=1{23},C={p,qr stthen n[(AUC)XBlis_. (@)8 (b)20 (c)12 (d)16
A={ab,p},B={23},C={pqrs}taailson[(AUC) X Bl syeim__.(21)8 (=)20 (®)12 (®)16
2. Given f(x) = (—1)*is afunction from N to Z. Then the range of f is
f(x) = (—1)* aeiiug N—eI@pbal Zé@ auenuBibalill Beitengl. eesd [ -6 alFgsid
(@) {1} (b) N (©{1,-1} d)Zz
3. Thevalueof (13 +23+334+--+15%) - (1+2+3+ -+ 15)is
(B+22+33+-+153) - (1 +2+3+ 4 15) —ufer gy

(a) 14400 (b) 14200 (c) 14280 (d) 14520
4, If2+4+6+ -+ 2k =90, thenthevalueof kis_ .2+ 4+ 6+ - +2k =90, e160fl60 k —6d1 08N
()8 (9 (c) 10 (d).11

5. A straightline has equation 8y = 4x + 21. Which of the following is true?
(a) The slope is 0.5 and the y —interceptis 2.6  (b) The slope is 5 and the y — intercept is 1.6
(c) The slope is 0.5 and the y — interceptis 1.6  (d) Theéslopeis 5 and the y — intercept is 2.6.
8y =4x + 21 a6t GBsHGHM 1960 FLOGLITL I9B3EH HDHEMILQIBBI6L 618 2 _65Tenio?
(o1) gmwiey 0.5 wBEId Y —Ceul_ BoHaiewnib 2.6 (o) &muie) 5wBpid y — Geu’ B aien® 1.6
(®) gruiey 0.5 wBmid y — Geu_(Hdhaieni(h 1.6 (m).griie) 5 woBmid Yy — Geu BHHiemE 2.6.

6. GCD of 6x2y,9x%yz, 12x%y?zis ___. 6x2y,9x%yz, 12x%y?z syfweuppilenn 15.60uro
(a) 36xy?z2 (b) 36x2%y?z (©) 36x%y2z? (d) 3x2y
7. InAABC,DE || BC,AB = 3.6 cm,AC = 2.4.¢cm, AD = 21 cm, then the length of AE is
(@14cm (b)18 cm (c0)1.2cm (d)1.05cm
AABCev, DE || BC,AB = 3.6 QF.18,AC =2.4 Qg.15, opmio AD = 21 GF.16, eteflsd AE —ei1 [Hemid
(o) 1.4 0518 (=) 1.806&18 @) 1.2 0z.8 ) 1.05 Qg8

8. The slope of the joining (12,3), (4,a) is g, the value of ais __.
(12,3), (4, a) 616013 LisTT61TB6M6IT . Sememib@HiD GBI _1g6dt &mﬂsué 6Telev, A6dT DA .

(@)1 (b) 4 (c) -5 (d) 2

9. (2,1) isthe pointofintersection oftwolines (2,1)-23 Qeul B Lsitelwnss Oemeni. Rm CryHCaTHHsiT
@Qx=9—-3=03x—y—-7=0 Mx+y=3;3x+y=7
()3x+y=3x+y=7 Ax+3y—-3=0x—y—-7=0

10. tan@cosec?0 —tan @ is equal to____. tan Ocosec?d — tan O —si ALY
(a) secd (b) cot? 6 (c) sinf (d) cotd

11. The total surface area of a hemisphere is how much times the square of its radius?
QM SMISECHTENSHH COTHSHL LTI DIHNT UTHH DML 6UJHHHH60 615HHEN6N LOL BISTELD?

(@mn (b) 4r (o) 3m (d) 2m
12. If the volume of sphere is 36 ¢m3, then its radius is equal to
(@3 cm (b)2cm (c)5cm (d)10cm
36m Q.15 sen oieney GEBTEmIL R Camendhalei SyJiD,
(=1) 3 Q5.8 (=1) 2 QF.18 (&) 5 0.6 (%) 10 G&.18
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13. The range of the data 8,8,8,8 ...,8 is . 8,8,8,8...,.8 audwi srelen eidia .
@0 ()1 (©8 (d)3

14. If aletter is chosen at random from the english alphabets, then the probability that the letter chosen
proceeds x

RS TWSHNGHS @ 61WHSI Fwaumiiy epulsd GFHie CFIWILGSBH. B LSS
X—5@G WPhHW 6I(IpHHIH6MED @QeiIBTeS SHLULSBHTEN [HHDSHEH)]

O O © OF
PARTII/ ugg -II
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20

10 elemsseEndg alenl Wwelds. allem 66w 28-&@ &L LTWIOTS 6lenLUl6fdasea)|LD.

15. Let f be a function f: N — N defined by f(x) = 3x + 2,x € N. Find the pre-images of 29, 53.
f:N->N aeip  armjuteng f(x) =3x+2,x EN el auOFUBIGS ILBSBE 4 616060, 29 BEID
53-601 (6l 2 _(hbHM6NED HT6NIb.

16.1s 7 X 5 X 3 X 2 + 3, a composite number? Justify your answer.
7X5X3 X243, 66UEH @b UG olewienn? 2 gl alenl snud BuimiLBH5HI5.

17.1f3 + k,18 — k,5k + 1 are in A.P, then find k.
34k, 18 —k,5k + 1 eretiusmer @@ . BHOHTLT euflenguisy 2 siiener eleled k-6 0] HT6wIb.

18.1f13 + 23 + 3% + .- k® = 16900 then find 1 + 2 + 3.+ -+ + k.
134+ 23433+ k3 =16900 ataflev, 1 + 2 + 3t +k-631 0S| SHT6mIss.

7 8 6 4 11 -3
19.IfA=|1 3 9|,B=|-1 2 4 |, thenfind 24 + B.
-4 3 -1 7 5 0
7 8 6 4 11 -3
A=!1 3 9],B= -1 2 4]ﬂ6bﬂ6i),2A+B—uj66)6U[é§5 BITEITH.
-4 3 -1 7 <5 10

20. If one root of the equation 3x? +kx + 81 = 0 (having real roots) is the square of the other, then find k.
QLU IOWIEHTBEMST  (LPEUmHIGATTES ObTai. 3x% + kx + 81 = 0 6lehi3  FIOLITI 19601 @ (LP6VID LOBOBI(H
APEVHH6N ITHBID 616360, K-uledr DAILDH BT,

a’+3a-4 a’+2a-8 . _
21.Ifx = and,y = ———, find the value of x?y~2.
3a? 2a%2-2a—4
a’?+3a-4 [, . a’+2a-8 R S . ,
= WBBID Y = =————, 660 X -601 OS] SHTEvTE.
3a2=3 Boid’y 2a2-2a-4 y Sy

22. Incthe figure, ADvis the bisector of 2BAC, if AB =10 cm. AC = 14 cm and
BC'= 6 cm.find BD and DC.
Qarhdsi Bemen UL GHev AD estiig LBAC -1 @maFo Qaul Iguim@ib.
AB =1005.15, AC = 14 Q&5 1oBpio BC = 6 G515 eteisv BD  1oimid DC-2086 Hremis.

23. What is the inclination of a line whose slope is 1?7

gnule] 1-m& OCarewi CrIHCHTL 196 FTuie)d @Hmemnild 6T6ime?

24. A player sitting on the top of a tower of height 20 m, observes the angle of depression of a ball lying
on the ground as 60°. Find the distance between the foot of the tower and the ball. (V3 = 1.732)
20 15 o _wgupsiten SligL HFHe 2 FFuled @@ ellewenuuml @ ol iojbheH CETeHiB HmIulsd 2 siterm
Qm ubms, 60 EBEesECETMISHN STETEBI]  oaflsd Sl SILGHBGD  LbBELWD
Beml_Buiuleiten COHTENeVMNIDH BT, (\/§ = 1.732)
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25. A cone of height 24 cm is made up of modelling clay. A child reshapes it in the form of a cylinder of
same radius as cone. Find the height of the cylinder.

HoMMwenr Odmem(y QFLWlLLL 24 QF.L5 2 wF(psien @ DDl @@ GLHHS DI6FH JpeiTen
QR 2 _(HEVETUITS LOTBBISBSH! 61660 2 (Hemenuiled 2 WIflD 6l6drea?

26. If A is an event of a random experiment such that P(A4): P(4A) = 17: 15 and n(S) = 640 then find P(A).
om soamiiys Csrsmanilsy om Bepsd A aas. @wie P(A): P(A) =17:15 wnmib
n(S) = 640 aieflsv P(A)-26 sTemis.

27.The mean of a data is 25.6 and its coefficient of variation is 18.75. Find the standard deviation
m sl eleugrisefen gyraflumengd 25.6 BBID Sigen iUt (bd Ospeutengl 1875 elefls6v,
DIGHN H L 60HHHMBHH HTEMIH.

28. Show that the straight lines 3x — 5y + 7 = 0 and 15x + 9y + 4 = 0 are perpendicular.
3x =5y +7 =0wipio 15x + 9y + 4 = 0 8w CEIECHT(hEH6T QeMMIEOETHMI CFhiGHHS! 6160 HBIR|S.

PART - IIl/ ugd - III

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

10 elomesEnsE elenLwefoHs. aleim slewl 42-6@ SLLTWIOTES 6lenlLieoBSHeLD.

29. Let A=1{1,2,3,4} and B ={2,5,8,11,14} be two sets. Let f:A =B be a function given by
f(x) = 3x — 1. Represent this function.

(i) by arrow diagram (ii) in a table form (iii) as a set of ordered pairs (iv) in a graphical form
A={1,2,3,4} wimio B ={2,58,11,14} eetienn ‘@@ Sowimiss1 et6iis. f: A — B elepid &My
f(x) =3x — 1eous QarBoHsiL Beitengl. GFETiIene

(i) @ubys@n uLid (i) '@ evenemr

(iii) euflews Camgmeiei SHewild (iv) suenFUILID HBWIIBBTEL GHHD.

30. An object travels under the influenceof gravity in time t seconds is given by
s(t) = % gt? + at + b, where,(g is the acceleration due to gravity). a, b are the constants. Check if
the function s(t) is one-one.
yelufyiy elenguile sryswions t elsimoseied @m OUTMHT BLbGHIW SHIwomengdl s(t) = %gt2 +at+b
otenics  OBTBHBLILL(BeiTeng). (g @endl Ueluiyiy elenguls smyewions eBUBL (PHHBIOTGID). RbIE
a, b Bwensy OTYSeN®6i. S(L) UMH RENBIGCHTEHBTN FTTUTEGLIOT 6160 UTTUISH.

3l.LetA={x e W/0<x <5}, B={x e W/0 <x <2},C ={x € W/x < 3} then verify that
AX(BNC)=(AXB)n (AXCC).

A={x e W/0 <x<5},B{x e W/0<x <2},C={x€eW/x < 3}eaeed
AX(BNE)=(AXB)N(AXC)xmF sfunjbs.

32.Find the sum of the geometric series 3 + 6 + 12 + --- + 1536.
346412+ -4+ 153666018 QUHBGHS OHTLHl6T FnBHed SHT6wIS.

33. Find the sum of all 3 digit natural numbers which are divisible by 9.

9 YL IGUBID DDHH! PINSleVHH RUISL 6TEMTHNET Fn{BHEH60 HTEIS.

2 2
34. Find the square root of the expression LN T Ay
y y x x2
2 2
4yi2 + Z;ﬁ +13 — 3073) + % 616013 GaBTemauuilel 6UJSaLPEVLD  SHTEuINE.

ST _ 3x 4 2.

x-1

35. Solve the quadratic equation by completing the square method

IBSL LTSS (pepulsy 5;‘:'17= 3x +2 66 FLOGILTL I &6y ST
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5 2 9 L7
36.1fA = [ ] ,B = [1 2 ] verify that (AB)" = BTA”.
1 2 8
5 —1
5 2 9 17
A= [1 2 8] B=[1 2 ]ﬂﬁfﬂ@, (AB)T = BTAT aisiiueng sflunjésab.
5 —1

37. The hypotenuse of a right triangle is 6 m more than twice of the shortest side, if the third side
is 2 m less than the hypotenuse. Find the sides of the triangle.
M Oonilsrenr (WoHCamembdlsn Syewild AR UsSHHH Q@M WLHEmS el 6 WBLLT SiFHsb. Goevld
APSIBTONF] LISHLOTENSH SHJHmd Sl 2 5 LJ Gemmey 616ied (pHCHmemiddlei LIbHmIBEN6T T EiT6uIb.
38. Find the equation of a straight line joining the point of intersection of 3x + y + 2.= 0 and
x — 2y — 4 = 0 to the point of intersection of 7x — 3y = —12 and 2y = x + 3.
7x — 3y = —12 vopmib 2y = x + 3 8w CpyCanamst FhHs@GLD Useflenwud 3x+y+2 =0
wBBb x—2y —4 =0 yalu CrisCasrpsst FhAH@GD LsTafenwiu]bd [(Eenes@Gld  Ghis6sm g6
FLOGILITL6DL_8  SIT60I5.

39.IfV3sin @ — cos @ = 0, then show that tan 36 =

3tan f—tan3 @
1-3tan2 6

3tanf—-tan3 6
1-3tan26

V3sin6 — cos @ = 0 ereflsd, tan360 = 6Tedl  BlepLldbs.

40. The radius of a conical tent is 7 m and the height is 24 m. Calculate the length of the canvas used to
make the tent. If the width of the rectangular canvas is 4 m.

HeFTenend Osmewih 7 B Suyupld 24 15 2 WD, 2 enLwl @ SalDl  6UgeN  Fwnl MILD
2 HAUTHSILGSBEH. CF6aIalds allgeal HoHHTeMe iHe0ID 415 6lefled DIHT [HeNID HT6wIsH.

41. A card is drawn from a pack of 52 cards. Find the probability of getting a king or a heart or a red card.
52 Sl (w6 CammemiL  FI(HEHl19e0mHhal @@ FIG TGS ILGIHGBH. DbH FIG QITFT SisLevgl
amTIl. Sisevdl Feulll] HIBF FLLTE SMHUUSBESTR B HDHHMeIS SHT6wIsH.

42. Find the co-efficient of variation of the data 18,20,15,12,25.
18,20,15,12,25 sy Bwieuipiledn “om@iun (e G (pemeid HTenis.

PART - IV/ ugd - IV
Answer the following. Sipssramid eleamessensd alenL wiefdsa|b. 2x8=16
43.a) Draw the graph of y'=2x2 — 3x — 5 and hence solve 2x? —4x — 6 =0
o) Yy =2x2-43x =5 —61 QJULID eImIbH BN LLSUGSHSH 2x% —4x — 6 =0 eehm
FLOGUNL ML & &HTEH&BH6LD.
(OR)
2= %wherex +1+#0,x+ 2 # 0and x + 4 # 0 using quadratic formula.

x+2  x

b) Selvethe equationﬁ +

MWtz
uwe(bH G HJHb.

44, a) Constructa APQR in which PQ = 8 ¢m, £R = 60° and the median RG from R to PQ is 5.8 cm.

find the length of the altitude from R to PQ.

o) PQ =80s.184R = 60" 2 54 Redmba PQ&EE susdyuiul L BB&ECHsT Igen Bemb RG = 5.8 Q.15
o0 @mBGWTB APQR euengs. Rembal PQé@ euenyullill L @&dHaHIHCHTL 196 HeNlD HTemis.

(OR)
b) State and prove converse of angle bisector theorem.
o)) Camemt S HFLGUL Y CHBBEHHI6H LOBIFHEMEVEHWI 6T1(LDSH  HmI6YsD.
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PTA QUESTION PAPER - 4

Time : 15 mins + 3 hrs Marks: 100
PART-1/ ugg -1
Answer all the questions. omeaiss alaMmebsEHEGSID llenL WedbseaLb. 14x1=14
1. The range of the relation R = {(x, x?)}/x is a prime number less than 13} is
R = {(x,x?)/x oueg 1333 oll_S@GHmmeuTean LGT 6l6mib6 } 6l 2 _melsl eiFssoneig)
(@) {2,3,5,7} (b) {2,3,5,7,11} (c) {4,9,25,49,121} (d) {1,4,9,25,49,121}
2. Let A={1,23,4}and B = {4,8,9,10}. A function f: A - B givenby f = {(1,4), (2,8),(3,9), (4,10)}isa/an
(a) Many - one function (b) identity function (c) One-one function (d) into function
A =1{1,2,3,4} wimid B = {4,8,9,10} eeiis. f:A - B syeman  amjy  f = {(1,4),(2,8),(3,9), (4,10)}
o160is QBTHHBUILLLTEY (1) LevauBsle (hibdhl eETBIGETE  FL] (o1) FaflFFTIY
(8) @eamsEsTemTen FiL (F) 2L &njy
3. If 6 times of 6t term of an A. P is equal to 7 times the 7t term, then the 13t term of an A.Pis __.
QM FHLBHOSTLT euflngulsi 6eukh 2 mInler 6 WLRGD 7ough 2 mInien 74 I0LREGD &b 6660,
BFL_BHOSTLT auflengulssr 13eug o miiy_ . (a) 0 (b) 6 (e)7 (d)13
4. The sum of the exponents of the prime factors in the prime factorization of 1729 is
1729-29 uBTES SMFOILLGHSHID CUTH, SbPH LST elamiseien BHGDB6NM6  FnBH60
(@1 (b) 2 ©3 (d) 4
5. Ifaand b are two positive integers where a > 0 and b is afactor of a, then HCF ofa and b is __.
a wBEID b e Bm Wend (WPpIpHEEeT. @mhig a > 0,D.ereilg a -6 @ SHTyewi slellsd a BB b

ayPweuppilen B.6uTreu__. (a) b (b) a (c) 3ab (d) g
6. If (x — 6) is the HCF of x? — 2x — 24 and x? — kx — 6'then the value of kis ___. (@3 (b)5
x% — 2x — 24 wippid x? — kx — 6 yAwWeBe 15.60ULel (X' — 6) aieflsd, k —eir gy . ()6  (d) 8
7. If apolynomial is a perfect square then its factors will be repeated number of times
(a) odd (b) zero (c)even (d) none of the above
QM LOVIBILILIES CHTeneuITedl (PLOaUFHEBLD 6l6ie0 DIFH6ed HTTeniiase _ sleniemidbendulsy @b GBI
(o) @BeBLULL (o) ymaduwin () @rlenLliuenL () CuBampfiweuBslsd sigiaD Esvenev

8. IfAABC is an isosceles trianglewith «C =90 and AC = 5 cm, then AB is
Bm Fouss WoHeamemid ABC-60, 20 =90 wimib AC = 5 0g.165, eefle0 AB syevgl
(@) 2.5 Gz.18 (b) 5 GF 18 (c) 10 G&.18 (d) 5v2 Gs.18
9. When proving that a quadrilateral is a trapezium it is necessary to show
(a) Two side are parallel (b) Two sides are parallel and other two sides are non-parallel
(c) Opposite sidesiare parallel  (d) All sides are of equal length
@ BIBSILOTEIH! Q) FfUBLOTS DienoUlsh BHemeuwmer HlLbHSHemneo
(o) B usDhISEET EGement () BB UsBHIB6ET Benemt BB S LISHHISET ReNewILBBN6I
(@) e dly LbBmBeT Rememt  (F) DIEWENHSHI LISHHIBEHID FLOID
10. The equation of a line passing through the origin and perpendicular to the line 7x — 3y + 4 = 0 is
7x —3y + 4 =0 a6 CrysCam iwn@ CFhigGhHaTe pHisTen abFoFsvsd ChysH6HsT iget Flosmd
(@A)7x=3y+4=0 M3x—=7y+4=0 (c)3x+7y=0 (d7x—=3y=0
11.1fsin@ ='cos 6, then 2tan? 6 + sin?f — lisequalto ___. (a) —S (b) % (c)g (d) —g
sin@ = cos 6, aiefled 2 tan? O + sin? 6 — 1 Geir wHiny . (&) —z (ag)z (@)% (") —2
12. In a hollow cylinder, the sum of the external and internal radii is 14cm and the width is 4cm. If its
height is 20cm, the volume of the material in it is
(a) 5600 T cm3 (b) 11200 7 cm?3 (c)56 T cm3 (d) 3600 T cm3
QM 2 sef BB o mmenulsn Oeieflyp BBID o LB Jhisemer amBHev seflsy 1460F.15 BBID
SIFH6N  HgIoedil 460F.15 PG, 2 mewenuledr 2 wigd 200815 elelled DIHEMEN 2 ([HEUTSHSBII  LILIGHTLIL L
QuTHeN6T 606N
(&1) 5600 7 Q.15 (1) 1120 G518’ (@) 56 T Q.15 (7) 3600 7 Q.15
wtsteam100@gmail.com WWW.Waytosuccess.org
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13. Which of the following is incorrect? OBTHBBILL L nelbemed 61%h HeUmTendl?
(@) P(A) >1 byo<sprPA)<1 (c)P(@) =0 (d)P(A) +P(A) =1
14. Probability of getting 3 heads or 3 tails in tossing a coin 3 times is
QM BITILSHMS (6Bl (ewB FeWIBLD CFTHMEIMUTL 3 HENELBET DIVEVHI 3 LHE6T SHenLbd HHDSHSH6Y

OF OF (©2 OF
PARTII/ uggd -1l
Answer any 10 questions. Question no. 28 is compulsory. 10x2 =20

10 elomsseEnds@ alenLuwlemdas. oflenm eremr 28-5@ SLLTWIOTES 6L U6 BHALD.

15.Find kif f o f(k) = 5where f(k) = 2k — 1./f o f(k) = 5 wmgbd f (k) = 2k — 1 aafled, k=g sSlewis.

16. LetA = {1,2,3, ... 100} and R be the relation defined as “is cube of” on A. Find the domain and range of R.
A=1{123,..,100} wBpib Reem 2 me| “A —e1 155 @F el6wienie &ed 6l6 GUENTUIBIESLILIL L T6,
R —&&men AILSHMBUID NFFHHMBUID SHT6wTH.

17. In a theatre, there are 20 seats in the front row and 30 rows were allotted. Each successive row
contains two additional seats than its front row. How many seatsare thereinthe last row?
R  HevIwighiseien (pHev  auflenFuisd 20 SmHEMBHEHD CTHSID 30 aIflenFHEHD 2 6ieren.
SbHHBHSH @6I6eITH auflengFullsvid DSHBE (WhHewHUl alflengedul el Ejeiih SHBMBHDHT FnHHe0TH
o eiteniadl. HWL & alflenguilsy elhHHme EHBHMBEHET EHHGHID?

18. InaG.Pi, —%, 1,-2 .., find t1o-/§'—%' 1,-2 ..., 61608 GLBSGHH OHTLTeIfenguishn 10015 2 DI 6HLIG HTE0IS.

24+6x+8

19. Which rational expression should be subtracted from-——=—to get — :
x°+8 xc—2x+4

x%+6x+8
x8+8

—el@mba 61hdH alHHUPBI CoTenaienilis HIogHEHT6L o163 Cpmemed &lemL_d@HID?

x2-2x+4

20. Determine the quadratic equation, whose sum and‘product of roots are — % and —1.

AP6UBIBEMET  FnBHe0  WBEID [ OLmHBHBOLIeVET  (LpemBEul —; wBpie —1  eTend0lsmmeni_
MUY FFIOTLITL 6DL_&  SHT6001H,
21. State Pythagoras theorem Usraren CaHBBHmd 61(1DHIH. A
22.In the figure DE || AC and DC || AP. Prove that = = =, D

Gar@hasin L u_ggésd DE || AC wppib DC || AP eiefsv % = i—g 61601 [HIMINb.

mm Wondershare
E  PDFelement

23. Show that the points P(—1.5,3), Q(6, —2), R(—3,4) are collinear.

P(—1.53),Q(6, —2), R(—3,4) euduw ysiielseil @ GCosILenoeus 6I6sbBM [Hb.
24 Prove that cotA—cos A & cosec A—1 cotA—cos A _ cosec A—1

= g = 6160 [HleHLIbeb.
cotA+cos A cosec A+1 cotA+cos A cosec A+1

25. The volumes of two cones of same base radius are 3600 cm? and 5040 ¢cm?3. Find the ratio of their heights.
F10_ N JRIB6T QBTan. @ SwibLissian sar Ssmeyssit 3600 GF.15° BB 5040 QF.15° steflsd SieuBSsir
o _UIhIBaT6T 6lEIHID HT6wIH.

26. The range of a set of data is 13.67 and the largest value is 70.08. Find the smallest value.
QM SHrelel eiFs 13.67 wBpid Weluflw waHiy 70.08 eeaisd, WaFFPw WwHlmLS SIS,

27. Write the sample space for selecting two balls from balls from a bag containing 6 balls numbered
1 to 6 using tree diagram.
@R ewuuleeien 1 (pHsv 6 euedJ elemIdsT  GUlGBIULL  UbSHIHeNe0mhH  RIHIB  UbHSHIH6I
TBLUUSBETN FnmItauaflenil OF eUHILLLD peoond GBILLIGS. (B SHHL HeISH@EID (LPeHB)

28. Find the sum and product of the roots of equation 8x? — 25 = 0.
8x2% — 25 = 0 163 @ MUIQEFFLOILITL 96T LP6VBIGBMET FnBH60 LBHID CLHGBSBLICIET SHT6wIH.
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PART -1/ ugd - III

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

10 elamsseEndg alenlWeldas. e 6Nl 42-5@ &L LTWIONS el Werlésea]L.

29. The data in the adjacent table depicts the length of a woman'’s forehand and her corresponding
height. Based on this data, a student finds a relationship between the height(y) and the forehead
length (x) asy = ax + b, where a, b are constants.

(i) Check if this relation is a function (i) Find aand b
(iii) Find the height of a woman whose forehand length is 40 cm
(iv) Find the length of forehand of a woman if her height is 53.3 inches
SIHBL 2 66 B L euememiulsd GlLisniiaseeh  (LpsiTenmhiendd6len [HeMD IOBBID  DIHeIL 6T EGSTL_JLEnL Ul
o WIIhIB6N6T HBHEUH6T GULPMHIBLILIL (BeiTeren. DibdH eleugmhissien SglienL ulsd e AbTemieuy 2 udfio (y)
(WedeuThIeNE HeTDd (X) —BETer 2 _mened Y = ax + b, el ewi(BLlghHHTy. @QhiE a, b sudliiensy omHledsei.
(i) Qbs 2 _MeuTeIFH FTJUTESGIOT 6160 TTUIH. (ii) a wBpIDd b yslueuBenBE BT6NISH.
(iii) ereumienaulien Hemd 40 OF.15 siafley, DibHL GCLewTenlen o WITSHNgHd BT6wIb.
(iv) 2_wgib 53.3 omi@eod siefed, DibHL GLewTenilen (Lpsieumhienauile, BTG HE HiT6emis.
Length x of forehand (in cm) / Height ‘y’ (ininches) /
(peitenminasemen Hond x (QFs-60) | 2wy Y. (SiBiEGSS60)

35 56
45 65
50 69.5
55 74

6x +1if —5<x<2
30. A function f: [-5,9] — R is defined as follows f(x)={ 5x>—1if 2<x<6
3x—4 if 6<x<9

Find (D) f(7) = f(1) (i) L2

6x+1 —5<x<2eeflsd
f:[-5,9] - Reetip smjurengl LIe@IBHOIBI ouenfLUBIbEILGEABE. f(x) ={ 5x2 -1 2 < x < 6 aaflsd
3x—4 6 < x < 9aafled

. - 2f(-2)—f(6) . . .
OF7D)—=fQA) wppw () =—7 ) TS ABLIBDODBE  HTE0IES.
31. Find the sum to n terms of the series 5 + 55 + 555 + ---
5455+ 555+ - qieiip QHTLT euflenFuleir (pHed N 2 MBI FnBHHe0 HT6wIb.
32. A girl is twice as.old as hersister. Five years hence, the product of their ages (in years) will be 375.
Find their presentages.
@ Cuesitenisil sulligh Sieugg F8sTHFuleh auwengll GUITeL EMIOLKIG HGID. WHH AUTHHEHHSLILT6T
Q@ euLFHIBeT6e0 OLihBHBHEEV6 375 6l6tis0, FeHTHIIBa6N HBOELITNBUI AILINSHD HTE0IH.
8 5x]=2 x?+8 24]_
4 4x 10 6x

x[23x ch]+2[2 iﬂ Z[X +8 24] 61603 DINFFLOGOILITL 19601 X-631 LFFUIoBm (0 IenLids SHTeuiisb.

34. Find thevalues of a and b 1f the polynomial 4x* — 12x3 + 37x2 + bx + a is a perfect square.
4x* — 12x3 + 37x% + bx + a a6Ug @ (WY QS LsveomIls Coremea elafled, a BHID b-6i
H MG HTEwIH.

35. State and prove alternate segment theorem. wrB@ eu' L Sgiewibh CHBBHMS 61(19FH HIMI6YH.

36. PQRS is arhombus. Its diagonals PR and QS intersect at the point M and satisfy QS = 2PR. If the
coordinates of S and M are (1,1) and (2, —1) respectively, find the coordinates of P.
PQRS stetiugl @@ &FTUl FHIJED, DiGHeh cpsmevail | kidkeT PR ioiBmid QS eyduiensn Gell Bid Lsiteri M
250|D QS = 2PR sienoyd 2 sitengl. S wipmid M syfwepien uuiigeieissit wpeomGuwi (1,1) wipid
(2,—1) srefl6d, P —601 uIl1 Li6iTerNaenends  SHTeuidb.

wtsteam100@gmail.com WWW.Waytosuccess.org
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37. A building and a statue are in opposite side of a street from each other 35 m apart. From a point on
the roof of building the angle of elevation of the top of statue is 24° and the angle of depression of
base of the statue is 34°. Find the height of the statue. [tan 24° = 0.4452,tan 34° = 0.6745]
QM OHmelsd @M &SULLLIPD @ Foeoud e1HOIHdh Hewgulsd 35 15 ewl Geuefluied
SimbEisTenar. &L sHar o FAuledmbam Hemev o FAulsr gmmaCameamid 24  wBmId  fenev
aguisT @ness Caramd 34  aafsy, Hensoulsr o wigib eemen?[tan 24° = 0.4452,tan 34" = 0.6745]

38. A cylindrical bucket, 32 cm high and with radius of base 18 cm, is filled with sand completely. This
bucket is emtied on the ground and a conical heap of sand is formed. If the height of the conical
heap is 24 cm, find the radius and slant height of the heap.

320815 2 wywid 18 QF.15 YUIupb 2 Lul @J 2 HweT algal auremuilsd (LPLPeHLOUITES  LD6TITEL
o 6iengl. Qb ewied HmJuied GHETLLOULG dnlbl 6lgailsd DiMDEHLILGHEMBSEI. DibHd _gnlDLl60n
2 Wb 24 QF.I5 616360, DH6M IO, FTUWLTHNSHSH HT6uilsb.

39. The consumption of number of guava and orange by a family on a particularweek aregiven below.
Which fruit is consistently consumed by the family?
QM GOBLUSHL GUIUILL aumFshdlsd 2 L Qsmsieniu’ L Qeriwm., IOBBID SiJehd  Liphigbers
eTeutTemNbemBH6T BB CBTHHBLILIL(heiTeNal. Sk 6lhd LIPD SJmsh 2 I CEmeiTeniul L g7

Number of Guavas / Gasmuiiwr uphiseien erewiemidens. | 3 (5|6 (4|3 |5 |4
Number of Oranges / <ujeha LIpmhIG6T6 slewteniademes | 1 [317 |9 |2 |6 | 2

40. In a class of 50 students, 28 opted for NCC, 30 opted for NSS.and 18 opted for NCC and NSS. One of
the students is selected at random. Find the probability that
(i) The selected student opted for NCC but not NSS (ii),The selected student opted for NSS but not NCC
(iii) The selected student opted for exactly onesof them
50 wremieujHeT 2 6o @@ euGlLlsd, 28 Guiy NCC-ulaiwp 30 Guiy NSS —ufewd wimid 18 Guiy NCC
wpmib NSS-uienib GaFiamniysst. @ wrswieu] Fo eumuil] (Wwesuisd CHihosBHHESILIGSBTT. 6w
() NCC—v @mim, ppmmev NSS-60 @eveumosd @b (1) NSS—sv @méss, isomed NCC-6b @eveumiosd S
(iii) BeuBnsled FCHMID @660 DL BID BBLILIGBEHTN [BHDHBHE BNV  HT6WIb.

41. By using slopes, show that the points (1, —4), (2, —3) and (4, —7) form a right angled triangle.
gniielevenl  uweLBsH  (1,=4),(2,=3) wpmio (4, —7) Pwl  usielsst  @m  CFmGasme
(WPEHCHTMHH M 2 [HEUTHGD 6160, HIMI6]S.

42. A man saved X16,500 in ten years. In each year after the first he saved ¥100 more than he did in
the preceding year.How much did he save the first year?
@@ BUT 10 syeiiBseisv T16,500 2 CFlsmTy. @aioauT®m UG Seu] CFOGGHID CHTMHWLITNISH HNHBES
(WHMBUemB CFlEEI OnTemsmuiai. 100 HHHID 616Mlsd, Doy (PpHe0 em[H eTeieIeTe)] CFOHEHUILITT?
PART -1V/ ugd® -1V
Answer the following. SipssTamid elamssensa el weflssa)i. 2x8=16
43.a) Draw the graph of y = 2x? and hence solve 2x* — x — 6 = 0.
S)).Y = 2X2 6l eUEDJLILID 6uenIibgl SiHemenil LGS 2x2 — x — 6 = 0 61603 FL06ILITL DL SJHSa|D.
(OR)
. .. a’-16 _ 2a*-3a-2 | 3a?-1la-4 . a’-16 _ 2a*-3a-2 | 3a?-1la-4
b) Simplify ——= X "=+ ————. &) FOSSD: 5 X o T o
44.3) Draw APQR such that PQ = 6.8 cm vertical angle is 50° and the bisector of the vertical angle
meets the base at D, where PD = 5.2 cm
o) PQ = 6.8 G518, Gowaid o &flaCamembd 50° wmpid o FfaBaramsdsr  BmEFOL IQWLITeNSI
SlglisssHmek PD = 5.2 QF.16 6o D —60 Fhdb@Gomm Sisnwowjio APQR —1 alen)s.
(OR)
b) Show that the angle bisector of a triangle are concurrent.
) R (WPHCHTMIHH6 BHmemt G FoORI 1956T @ LisTenuledl efuitesd GFeOID 6l6lds &Il (Bb.
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PTA QUESTION PAPER - 5

Time : 15 mins + 3 hrs Marks: 100
PART-1/ ugg -1
Answer all the questions. simeanbg elambssEns@GL alenL Weidasan|. 14x1=14
1. f(x) = (x+ 1)3 — (x — 1)3 represents a function which is
(a) linear (b) cubic (c) reciprocal (d) quadratic
fX)=(x+1)3-(x-1)3 eduien sriureags
(o) Gpflw &y (=) 90 so& sy (&) sweodips gy (F) Bouigs Sl

2. Using Euclid’s division lemma, if the cube of any positive integer is divided by 9% possible
remainders are
W B6IMIQeT 6UGHEHH60 HIMeWHEHMBHMBHL LWLTLIBHSH, 61hFH Lend (PUDsil HeddhenGHUIDy LB H)
9 6L GBS BuTH HewL SGD 168 ®6I
(@)0,1,8 (b)1,4,8 (©00,1,3 d1,3,5

3. An A. P consists of 31 terms. If its 16t term is m, then the sum of all the terms of this
. BHOHTLJauflengulsd 31 o miiEeT 2 eilener. SiGHe 16-a1%h 24MI| My 6160160 SbHH dnl (B
&1L euflenauisd 2 _6itenm 6T6060T 2 MILIL|H6N6N Fn(BHEH60

(a) 16m (b) 62m (c) 31m @ =m
3y-3 | 7y-7. 3y-3 | 7y—17 .
4. T - 32 1S . T - 3772 ereLIG|
9y 9y3 21y%2=42y+21 7(y2-2y+1)
(€)= O vowrn =% (D)=
5. The solution of x? — 25 = 0is
(@) noreal roots (b) real and equal roots (c).realand unequal roots  (d) imaginary roots
x? — 25 = 0—6r Sourens
(&1) QuouiGuiesT &T6a)msT Es0ensv (=) Fowmer QLoUIGLIETT BHT6|E6iT
(®) FwwBB CLUIGWEST &6 dHe (F) BBLM6NSH BT 6)H6IT

1 3 5
204 6

]a@ub OQarGasiu L seas (AT)T sam owmiulsr aflns

6. For the given matrix 4 = [ ] the order of the matrix (47)7 is

_[1 3 5

4= [2 4 6
(@)2x3 (b)3x2 (c0)3x4 (d)4x3

7. The perimeters of two ‘similar triangles AABC and APQR are 36 cm and 24 cm respectively.

If PQ = 10 cm, then the length of AB is

(@) 62 cm ) 2° cm (c) 662 cm (d) 15 cm

Am angbeursHs (psCamemmigsit AABC oipid APQR syduisemilen smpenelsst (penp@ui 36 GF.15

wB@Ib 2405.5 . PQ = 10 OF.15 sieflsv AB —eir perid

(1) 6 Ges (<x) %g O .18 (®) 66> 618 () 15 G&f

8.7 1f.(5,7), (3,p) and (6,6) are collinear, then the value of p is .
(5,790(3,p) & (6,6) sistiLion g CHI_LeniohHeme slailsd p —6i OS] .
(@3 (b) 6 ©9 (d) 12
9. If the points A(6,1), B(8,2),€(9,4) and D(p, 3) are the vertices of a parallelogram, taken in order
then the value of pis __.
A(6,1),B(8,2),C(9,4) wimi> D(p,3) eeiue @m SweuisIsHHe  euflend oW
TBHHIGEBTETNILIL L (LPemedId6iT 616060, P -601 DG __.
(@) -7 (b) 7 (c)6 (d) -6
10.Ifacot® + b cosech = p and b cotd + a cosech = q, then p? — g? is equal to
acotf + b cosect = p wipyib b cot§ + a cosecld = q, aiafled p? — g2 —eir 1AL
(a) a® — b? (b) b? — a? (c) a? + b? (d)b—a
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11. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same diameter and same height is
Fowomen el LID OBHBID @ WD 2 LUl QJ 2 (W6, @ Fnlbl| WBHID @ Csmemd oy aluieiinser
seoleneyEensn eldsn__. (a) 1:2:3 (b) 2:1:3 (©)1:3:2 (d)3:1:2

12. C.S.A of solid sphere is equal to
(a)T.S.A of solid sphere (b) T.S.A of hemisphere (c) CS.Aofhemisphere (d) none of these
Camengglett UBLUTULIBGF FLoLDTENSI

(o1) Gamengdedt GLOTSHSULITLILY (=) SiImTHBHTeNGHH6 GLOTHSIILITLIL
(8) owrslamenggsi LBLLTLL (F) BouBsled 61gHILOEVEMED
13. Variance of first 20 natural numbersis ____.  (p&s0 20 @Quiev ereuiimberlen eevdbd ouHHF FFmg) _ .
(a) 32.25 (b) 44.25 (c) 33.25 (d) 30
14. Which of the following is incorrect? L6l HeNseBBIGT 6151 HOIBTeNEI?
(@) P(4A) >1 bo<sprPA)<1 (c)P(@) =0 (d) PA)Y+PA) =1
PARTII/ ugd -1I
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20

10 elemssendd ool Welos. ellerm slewr 28-6@ SLLTWLTS elenLLeflssaib.
15.Let A = {1,2,3,4} and B = N. Let f: A - B be defined by f(x) = x2, find

(i) the range of f (ii) identify the type of function
A={1,23,4} oppie B =N aeis. Gueub f:A > B oueigl f(x) = x? ala  auenjwpibsILGEns
etefle0, (i) f —6i1 eiFFHHmHH HT6UIH (ii) eTeueNENEHF ST 6T60ds HT6WID

16.1f3 + k,18 — k,5k + 1 are in A.P, then find k.
34k, 18 —k,5k + 1 ctetiuen @ Fnl_ BHOHTLT suflenFulled o eiteien erenfled k-631 LI HT6EwIb.

17. Find the geometric progression whose first teema = —7 and common ratior = 6.
QM OUMmBESGHH CHTLT euflengulsh (pHed o _miiy’ a = —7 B CuTel eldlsd =6 6D
QUEEGS OHTLTauflengenuld HTedb:

144a8p12c16 144a®p12c16

19. Which term of the A.P 21, 18,15,... is =817 State with reason is three any term 0 in this A.P?
21,18, 15,... 1603 gl BHOHTLT euflensuisy —81 erhHewenimougs 2 miliy? Gwsd SoHanl BHOHTLT
aiflnFuisd 0 @F 2 MIILITEIOT 6IeIIeng HTTIISHHIL 60 6)61HEHb.

20. Arelation R is given by the set {(x, V)/y=x+3,x € {0,1,2,3,4,5}}. Determine its domain and range.

18. Find the square root of —60T QU EEBCPEVID HTCUIIGE.

R eem  @m Jomey {(x, )y =x+3,x €{0,1,23,4,5}} ams GCar@ssi Geteng. Gsiampelst
oS ILISBID \DBMID (N FFHID BHITG0TH.

21.IfA=[g g g]ande[Z i g

3 ;L 3] LoBEID B = [Z i g] stoflsd 34 — 9B —ait WA BBTEMS.

22. In theradjacent figure, AD is the bisector of A. If BD = 4 ¢cm; DC = 3 cm and
AB = 6 cm. Find AC.
uLsHeo, AD eeiiug  A-s  @mFwleully. BD = 4 0.5, DC = 3 QF.15 wBBIbd 5
AB = 6 0515 etailed AC —6i1 IDFH16DLIG HT6wISH.

23. Show that the straight lines x — 2y + 3 = 0 and 6x + 3y + 8 = 0 are perpendicular.

], find the value of 34 — 9B.

)

Lem D 3 cem

x—2y+3=0 g 6x+3y+8=0 gau Qm CriysCaThamEHLD QETMIH OB T6IB
CFmIGHHTeTme 616dh ST (HS.

6—tan 6 1-sin @ secf—tan 6 1-sin @
24. Show that [== = : = o160l 5.
sec O+tan 6 cosf secf+tan O cos 6 ‘rbr]@l@'l
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25. If the radii of the circular ends of a frustum which is 45cm high are 28cm and 7cm, find the volume
of the frustum.
450F.15 2 _wirweien @ SV bHemILHAH 6 S LB HJhiseT (penpCuw 2860F.15 wBmid 70&.15 sieflsv,
BADL_BHEWIL_HA6T B DI6NDEUD  HT6WID.

26. Find the range of the following distribution. G&sr@G&HsiLl L Lyeuelsn eiFsH Hremisb.

Age (in years) / suug (sumLriisstisd) 16-18 | 18-20 | 20-22 | 22-24 | 24-26 | 26-28
Number of students / omewieu] 6166w Hemb 0 4 6 8 2 2
27. Three fair coins are tossed together. Find the probability of getting
(i) atleast one tail (ii) atmost one head

(el FITe [BTerILmIG6T (Wwenpwnd @@y GrrsHaley el LILI{Balsimen.
() &oBhaULFID @M U, Hen_dbdH OBBID
(ii) IPBULFID QM HWL B BH HBHDBHHAHM6ND BT,

28. Find the value of p, when px? + (V3 -V2)x —1=0and x = \/—15 is one root of the equation.

px?+ (V3 =+V2)x — 1 = 0 6c160és QBTBSSUILI L FLOGIITI 96T G CLGVLD X = \/%(ﬂa)ﬂé), D6t WAL HT6OHIS.

PART - I1I/ ugg - 1II

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50

10 elemssEnsE olenLuwiefobs. alem e 42-6@ SLLTWLIOTES  alenL WleiiéBasea)L.

29.LetA={xeW/x<2},B={xeN/1<x<4}and C = {3,5} verify that Ax (BnC) = (Ax B) n (A X C).
A={xeW/x <2},B={x€eN/1<x <4} wpgib C ={3,5} sieile0
AX(BNC)=(AXB)N(AXC) eigib FLoLT DL F SN HS.

30.If f(x) = 2x + 3,9(x) =1 — 2x and h(x) = 3x«Provethatf o (goh) = (f o g) o h.
fx)=2x+3,9g(x) =1—-2xwppd h(x) =3x,foelgoh)=(fog)oh e Hpiosm.

31. Aman repays aloan of 65, 000 by paying ¥400 in the first month and then increasing the payment
by ¥300 every month. How long will it take for him to clear the loan?
mauy Hrer Qumpp 65, 000 sLwen  HBULF CFbd WPHed IS I400 CFISHHIFBTT.  DH6
LIB@ @6uCauT@® TSP (WPHmGU THID FasHHwemsd el I300 sFBHeorss CFaIsHISMBIT. 6]
DbHd HLMEI DML HB 6T6)6)6NE)| HT6VD BHemaulILIBLD?

32.Find the sum of 103 + 113 + 123 +.:420%3  &@se0 stewis: 103 + 113 + 123 + .- 203

33. Solve the system of linear equations in three variables: x + y+z=5,2x—y+z=9,x — 2y + 3z =16
X+y+z=52x=y+z=9x—2y+32=16 eaii3 cpetim LIPB6MNO DDOHSH  QHHIBEDLD
Crflwsd FoeUT(bdh OHT@LILT6T &Hi6) HTEwIH.

34.1f 9x* +42x34 28x%+ ax + b is a perfect square, find the value of a and b.

Ox* + 12%3 +28x% + ax + b eehiug @m (10 aIIbsSID elaisd a, b yBueBEeT HIILEM6TS HT6wIs.
35.1f 4 = [; ‘31] show that A2 — 44 + 51, = 0. A= B _31],m6o‘ﬂ6i),A2 — 44+ 51, = O sien i,
36:State and prove Angle Bisector Theorem — Gasmemr G mawleul 9 CHBBHMS 61108 HeHL1SH5.

37. Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are
(—4,-2),(—3,k),(3,—2) and (2,3).

(—4,-2),(—3,k),(3,—2) wimib (2,3) pSHweuBens WmNBeNTES OCBTemL  BIBSIHAH6T Ll

28F.DI0GHB6N 6160160, k-601 O] SHM6mich.

38. Two ships are sailing in the sea on either sides of a lighthouse. The angle of elevation of the top of
the lighthouse as observed from the ships are 30° and 45° respectively. If the lighthouse is 200 m
high, find the distance between the two ships. (\/§ = 1.732)
B  HLOH6T  HEURIBD] MeNbHHHN M  LSShIG6MID HL6060 ULwewld OFuIdSemer. &
SLILEVS6M b Hevhisemy elsnasbdea o s8ulst gnmsds Cameammmst emmGuwr 30° wbmid 45° ey@ib.
HEVRIBEM) eleNHHed 2 _wigid 200 15 6T6died, G HLILILHEHHE RMLBU 2 616 GHTEn6veneIdH HIT6HID.
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39. A right circular cylindrical container of base radius 6 cm and height 15 cm is full of ice cream. The

ice cream is to be filled in cones of height 9 cm and base radius 3 cm, having a hemispherical cap.
Find the number of cones needed to empty the container.
6 OF.10 YJib BEID 15 GF.15 2 wgD CHTMIL @J 2 HeT algalll LTHEHTD (WDIRQISHIDTS LsNdanmLD
o 6i6NEHl. DbBHLI Ll bInlpTeidl, FnlDl] LOBYID DHeTHEHTND Revemibdh algaihale0 B LILBGS MBS
&inleit 2 wpd 9 GF.15 Bpd Hyb 3 OF.16 e6afled, UTHHTHHL 2 66N  Lisidbanenlp Bl
61HHEMEH FnlDLIH6T BFHemeu?

40. Awell of diameter 3 m is dug 14 m deep. The earth taken out of it has been spread evenly all around it in
the shape of a circular ring of width 4 m to form an embankment. Find the height of the embankment.
300 efilLapd 14 15 ypUpsien @@ Hewiml 2 Hewen auigeisd Geul LULGESBEH. ieleumml Geul BLd
Curgl GHmemmngOUIBHSLILIL L 06T 4 15 DIH6VLPsITeN el L sugallond FJrs ugidiitn G e BlosnL
SIMIDSHBULLLT6L HHDGenLUllell 2 WITHmBHH HTENIH.

41. The time taken by 50 students to complete a 100 meter race are given below. Find.its standard deviation.
Time taken (Seconds) | 85—-9.5|9.5-10.5| 10.5—-11.5| 11.5-12.5 12.5—-13.5
Number of Students 6 8 17 10 9

50 newalseT 100 ISLLT  HMTHmP HLbB  IbHHB CBTNIL . HTev  Dleneydel  SBIpSH

Carhasli (Beitener. SauBBlen 1L aeubHID SHTewIH.
bHHIHOBETWIL GBI (alemmgsefsd) | 8.5-9.5 | 9.5-10:5 | 10.5-11.5 | 11.5-12.5 | 12.5-13.5
LD 6UTEUT & 61T 60T 6T6u0T601 &5 6m B 6 8 17 10 9

42. A card is drawn from a pack of 52 cards. Find the probability of getting a Queen or a diamond or a black card.
52 £ (hweit Qmmemi FIBH  HLI9elHhH @  FLBh IBEBILGHOMH. DibH FLBH SyTewiuims
SIGV6VFH| EMLLDSTIL.  DIGV6VSHI HHLIL| BIBF FLLIS G(HdHD  HHLDHHM6US BHT6widb.

PART - IV/ ugd - IV
Answer the following. SipssTamid alamssensd elmiilessai. 2x8=16
43. a) Draw the graph of y = x? + 3x +#2"and use it to solve x* + 2x + 1 = 0.
o) Y=x24+3x+2 —61 euemIULID eIHE OIS  LWUELBSHS xZ+2x+1=0 eem
FLOUTL ML & HTd5b.
(OR)
b) A train covered a certain distance at a uniform speed. If the train would have been 10 km/hr
faster it would have taken 2 hour less than the scheduled time and if the train were slower by
10 km/hr, it wouldthave taken 3 hour more than the scheduled time. Find the distance covered
by the train:

) @M CBHTLT eusting @ GBULILL HMIHmae Fgren CaussHdled &L bAmEH. OHTLT eusmiguisnt Geusid
10 &6/ 1oswll DBH&RHHULLLTL 2 el CHIHHBEG (P HTHC GBI L HMTHMSH DiewLUJID
BB OHTLY  euewnguiest Geusld 10 SuS/ewll  GHeopdsUUL LT 3 wewl CHISHBES LIBE
SEGHILILL HITHDS DDLUON0 DibH OHTLT auswlg DDLbHH HITHMBHH HwIdHS [BHdb.

44.a)y Construct a triangle APQR such that QR = 5 ¢m, 2P = 30° and the altitude from P to QR is of

length 4.2 cm.
o) QR =508.165, 2P =30° wohpd Puledmbs QR —6@ eueywlul L GHHieCHTI g  Berib
4.2 QF.15 QsmewiL APQR eusnysb.

(OR) R
b) Two vertical poles of heights 6 m and 3 m are erected above a
horizontal ground AC. Find the value of y. E 0 R
)6 15 wBBId 3 15 2 wipweiten Sgemih CFhIGHHTeN Hrewisent AC  s1eiiB -
Hemguienr Gsd UL GHH6L ST lgujsieneumyl Himieulil (heitengl eletflev, y-601 y o)
AL HTENISb. B c
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PTA QUESTION PAPER - 6

Time allowed: 15 mins + 3 hrs Marks: 100
PART -1/ usd® -1
Answer all the questions. omensg elaMmessEnEGSID allenL Wefdbsa|b. 14x1=14
1. Ifg ={(1,1),(2,3)(3,5),(4,7)} is afunction given by g(x) = ax + 8 then the values of @ and 8 are
g =1{(1,1),(2,3)(3,5),(4,7)} eetiz arjuneng g(x) = ax + f a1en QBIBHSIILLLT60 @ BEHID B —6dt
LOGILIL|B6IT (@) (=12) (b) (2,-1) (©) (-1,-2) (d) (1,2)
2. The given diagram represents ___. (a) an onto function (b) aconstant function 2

(c) an one-one function (d) not a function @.@

Car@heslul_Bsiten ULD @SNSGSID Ty, @m .

(o) Gwsd gy (<) wrfled FmLy (B) oomibe gmrer gy ()M, Sisoe
3. IfA=2% andB = 26* + 263 + 252 4 ... + 2° then which of the following is.true?
(a) B is 2°* more than A (b) A and B are equal
(c) Bislarger than A by 1 (d) A is larger than B by &
A = 2% imib B = 2% + 263 4 262 + ... + 20 giaflsd  LieimeumeuameuiBien 615 S smiento?
(@) B sz A—gy el 2%* oigsibd (<) A pmib B s101d
(8) B ouvig A— 6l 1 SifHsId () A oozl B —p el 1 oifsid
4. Ifa,b,carein A.P then % is equal to : (a) % (b) % (© % (1
a, b, cetehiLien @ Fnl (hH COHTLY euflewauisd o siteren slstiov, g = .(@D% (@J,)% (@)% ()1
5. y?+ 3% is not equal to . BpHBMILDBDIsT 618 V2 + 3%—&3@& FI0D B)60en6n?
y4+1 112 112 112
@ ®) [y +3] @p-5+2 @[+ -2
. - 1 31 _[5 7 1 31_[5 7 . . . .
6. Find the matrix X if 2x + [5 7] = [9 5]. 2X + [5 7] = [9 5] oTalle0, X 6160 Siewilenlids HTemish.
-2 =2 2 12 1 2 2 1
@ | 2 —1] (b) [2 —1] © [2 2] (d) [2 2
.. x2-25 xX+5 . x%-25 . X+5 . N .
7. Ondividing — by 2 g1S equalto __. — OIS —— —aieD AUGHHGIOUTHI BenL gl

@) (x—5(x—-3) M x-=5x+3) ©WOkk+5x-3) (@ x+5)(x+3)
8. InaAABC, AD is the bisector of ZBAC.If AB = 8 cm,BD = 6 cm and DC = 3 cm, the length of the

side ACis ___. (@) 6cm (b) 4 cm (c)3cm (d)8cm
AABC-60, AD&pengl 2BACWsst @maioeau’ 9. AB = 805.15, BD = 60515 wpmid DC = 30&.16 eretflsv
ussd AC—er meno__ . (&) 6 Q.15 (=) 4 Qg8 (®)36g.18 (#)80Qs.8

9. Inagiven figure PR'= 26 cm, QR = 24 cm, £PAQ = 90° PA = 6 cm and QA = 8 cm. Find 2PQR
QeTBHsHML Bsien L5560 PR = 26 0.8, QR = 24 Qs.16, £PAQ = 90° AP
PA =6 Q.15 oppid QA = 8 GF.16 etefled LPQR Mmd Hewis. ‘q
(a)80° (b) 85° (c) 75° (d) 90°

10. If slope of the line PQ is % then slope of the perpendicular bisector of PQ is A 9

Cam’ Bdh Wi PQ —ei1 FTule)] % aleOPQ —6@ OFhIGHHTN SMHFL Call iguiet FTuie)
@3 (b) —V3 ©% (d) 0
11. If the ratio of the height of a tower and the length of its shadow is v/3: 1 then the angle of elevation
of the sun has measure __. (a) 45° (b) 30° (c) 90° (d) 60°
9 CHTUTSH 2 WISHBGHD s Bipedst BonsSBan o sen eldsn V3: 1 eeflsor @flusnerd
STEDID JHBBEHECHTE DieTaITEIS] . (1) 45° (&) 30° (®) 90° () 60°
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12. A spherical ball of radius r; units is melted to make 8 new identical balls each of radius r, units.

Thenr:r, is . (@) 2:1 (b)1:2 (©)4:1 (d)1:4
1 OVGIB6IT  YJpsiten @M Cosmenliupbd 2 GHaUTSSUULG T, DVGEH6T  UJpsien 8 &b
CamenILbHIBEMTE UHHIIIBBBEH 616860 17: 7, 6T6iLIH C(aN2:1 (o) 1:2 (®) 41 (7) 1:4

13. A fair die is thrown once. The probability of getting a prime (or) composite number is .
QR FITEN USML @ (PpemB 2 HULILGILEUTSH HenLS@LD 61601, LSBT 61601 DIGL60FHI LG 6I6uT6nImH

@oiuspETe Bepsse . (a) 1 (b) 0 ()2 (=
14. Which of the following is not a measure of dispersion?
(a) range (b) standard deviation (c) arithmetic mean (d) variance
&6l OBTHHSBLILL L enaIdHesd 61FH LJalsy DisTenal ER60snsv?
(o) oiga (&) AL elevssd  (B) gl bF Fymes (F) oNevs®  6UTEHD aGTTFS
PARTIl/ ugd - II
Answer any 10 questions. Question no. 28 is compulsory. 10x2 =20

10 elemssende oo Weios. ellanm sle 28-6@ SLLTWIOTS elenLWeiibsalb.
15. Let f be a function from R to R defined by f(x) = 3x — 5. Find thewvalues of a and b given that
(a,4) and (1, b) belong to f
f awma R adpbs R -6 oo onjy  oeis. Gweonmd,. o f(x) =3x—5  aen
aueIWIGESILGSBE!. (a,4) wippid (1,h) syduemer f-60 2 oo 660 GBTHHSILIL LTE A DBBID
b —uleil WHUBMENH HIETHID.
16.If R = {(x, —2), (=5, y)} represents the identity function, find the values of x and y.
R = {(x,—2), (—5,y)}eetiug gweisF grjenus @&HloeE0bailsd X IDBHDID Y SpauieuBmle & ILIEmeNdH HT6uis.
17. Find the common difference of an A.P in whichi#yg — 14 =32.
QM L BH OHTLT euflengulsd t1g — t1, = 32 erafled DiHeit QUTH ONHHWITFHMBHH HTEwIH.
18. Find the number of integer solutions of 3x =1 (mod 15).
3x =1 (mod 15) 61653 FLOAUTLI9BE, _6THGHmeu (PAD 61601 HTOB6T 2 _61T6N6n 6160 HT6wIb.
19.Find thesumof 1 +3 + 5+ -+ 55.  &@sev smews.1 +3 + 5+ -+ 55.
20. Solve by factorization methed: 2x2 ~ 2+/6x + 3 = 0.
SMYMILILGHH0 (pempulsd &Tea:2x2 —=2v6x + 3 = 0.
21. If the difference between a numberand its reciprocal is %, find the number.
Qb 6161 LOBBID DB HWeLSLH YPHuIIBSlel elldHHwTEFD %, GTEN60 Db 6TEMTEN6IIEH  HT6wIH.
22.1f a, B are the roots.of the'equation 7x? + ax + 2 = 0and if f —a = — % then find the value of a.
7x? + dit+ 2 = 0leiei, sl gsit apeotiset @, f oppid f — a = — = aafed, a-i wH s,
23. Theline through the‘points (—2,6) and (4,8) is perpendicular to the line through the points (8,12)
and (x,24). Find the value of x.
(—2,6) wnmibd (4,8) aeim  Lsieiseien anfF OaFsvgnd GCrisaCsmteng (8,12) wmmid (x, 24) eeim
Leieriseienn auflF OFsoeid CohIHCHT I9BE CFhIGHHEH 6aMed X -601 DAL HT6wIsb.
24. From the'top of a rock 50+/3 m high, the angle of depression of a car on the ground is observed to
be 30°. Find the distance of the car from the rock.
50318 o _wipapsiten @ utenpulsr 2 FAuledmbg 30° BpsasCatansssd SHmruilasist & pHaEI
Q6ml UMTFesUILGEBE sleflsy, & IPHHBSLD UTHBHGD RenL Cuiwsien OHTensvsneld HT6wIS.
25. A solid sphere and a solid hemisphere have equal total surface area. Prove that the ratio of their
volume is 3v/3: 4.
QR Hewio Gsmemd BEBID Hewo MIHEHToND pFweuBmlen QoTdHgh UFLILIETEYSHET FLOD 6T6360
SauBBlen Heuloienemele ailal o 3v/3: 4 e1om BlerpLa.
26. Find the standard deviation of first 21 natural numbers. (56021 &6 sTenicberled i1 6l60HHHMSHEH HT6wIb.
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27. A and B are two candidates seeking admission to IIT. The probability that A getting selected is 0.5
and the probability that both A and B getting selected is 0.3. Prove that the probability of B being
selected is at most 0.8.

A oipid B sudur @@ elswtswn iugmyiset [T —ulsd Cajauspbasnsd sroHslmllaigser. Seijseisy A
CaIhOsBHHLILIGNSBBTN Habpssa 05 A wBpw B @oaumhd  CxiblsBdaslubabBaer
Pabsse| 0.3 eeansd, B CxHiyboshesliLBausBeTel HBULF HeneHHey 0.8 e BimLlds.

28. P and Q are points on sides AB and AC respectively of AABC.If AP =3 cm,PB=6cm,AQ =5cm
and QC = 10 cm. Show that BC = 3 PQ.

AABC-s0 ussmiset AB wpmid AC-ulsd wpewpBuw P wBmd @ el6diB  Lsiela6 2 _siTere.
AP =3 05.16,PB = 6 Q#.15,AQ = 5 07.15 opmib QC = 10 Q&6 sieflsd BC = 3PQ el HimieNs.
PART - lll/ u@# - III

Answer any 10 questions. Question no. 42 is compulsory. 10x5=50
10 elemssendg alenlwelds. allem oewl. 42-6@ SLTWIDTS elenlWeildbse]b.

29. Write the domain of the following functions: (i) f(x) = Zx_+91 (i) g(x) =A/x — 2

X

eeud sTiysafsn wHlLsRsme aawss: (1) £(x) = = (il) g(x) = Vx — 2

x=9
30. If f:R—> R and g: R - R are defined by f(x) = x> and_g(x) =«x* then check if f and g are
one - one and f o g is one - one?
f:R - Ruopmid g: R > Restiuen wenpCuw f(x) = x° wpmid g(x) = x* sien suenguwimibsir Lrsd f, g
AA WM QEITBIBOBTOBTENHT 6IVAYD [ © g 616G, EBIBOHTEMBTEN FTILITGHLON 6TEND UFTUIE.
31. If the sum of the first p terms of an A.P is ap? + bp. Find its common difference.
Qh HILGS O0s1Ly aflmsulsd wWwHo p o plyssier mBHeo ap? + bp aailsd SHeEr  CUTE
GHHUITF SHF)6M60H BTN,
32. Aman joined a company as Assistant Manager. The'‘company gave him a starting salary of 360,000
and agreed to increase his salary 5% annually. What will be his salary after 5 years?
Q@M BUT @@ Boeuasdled sienswr Gosomenyrall usmulsd CFJaIBmy. SiumSE DHBBIEUGID (LPHL
org  eagBuwiors 160, 000 enphiG@Bar wBBID e eaFHu 2 wie] 5% euphiGaSTH
QUUECSETNSBH. 5 uBL (PIgalled SiaIhEDL LI LOTEH DENFHUID 6l6l6l6N6)|?
33.If the roots of the equation (c? — ab)x? — 2(a? — bc)x + b? — ac = 0 are real and equal, prove that
eithera = 0 ora® + b3 + ¢3 = 3abc.
(c? —ab)x? — 2(a?* =bc)x + b? — ac = 0 ei6iiB  FOELTLIQ6T  (LP6UHIGET GIoul  OBEID &0 6lalev
a = 0 svevg a® + b3 + ¢ = 3abc aien Hlemud.
34. Find thé LCM of the polynomials a® + 4a — 12,a? — 5a + 6 whose GCD is a — 2.
a’ +4a—12,a>—5a+6 a@ib  UEIILGCHETMaSsTET  15.GLT.6u a—2 eefed
SILILISOIBIL LS CHTemeuEH6MMen 15.CUT.LD HTemTs.

36uIf A = [; i],B = [_01 E]C = [_11 g], prove that A(BC) = (AB)C.

A= ; i],B= [_01 g],c= [‘11 g] staflsd A(BC) = (AB)C erom mpions.

36. The perpendicular PS on the base QR of a APQR intersects QR at S, such that QS = 3SR. Prove that
2PQ? = 2PQ?% + QR?.
APQR —60 sgliussd QR -&@& OQsmigsHsts 2 siten PS oz QR —m S—6v ghasbangl. Gosuld,
QS = 3SR aafle 2PQ? = 2PR? + QR? eaien Hmioys.

37. Find the equation of the median and altitude of AABC through A where the vertices are
A(6,2),B(—5,—1) and C(1,9).
A(6,2),B(—5,—1) wimib C(1,9) sydweuibenys (pevaisenisd Gamei AABC-61 (wewenr A uledmbgl
QeHTWILGD HHHEHTH BBID HHHIGCHTL 196 FILOGILIT[HHM6NSH  HT6EwIH.
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cos3 A-sin3 A] [cos3A+sin3A

38. Prove that [ -
cosA-sinA
[cos3A—sin3 A] [cos3A+sin3A
cos A—-sin A

] = 2sinA cos A.

cosA+sin A

] = 2sin A cos A. stenr  BlepLIb.

cos A+sinA

39. If the slant height of the frustum cone is 10 cm and perimeters of its circular base are 18 cm and
28 cm respectively. What is the curved surface area of the frustum?

QM Snblel QenLSHeNILSHH FTuwgo 10 OF.5 @Wb. et GoBum, SwiLB eul LLLG g see
ammene] 28 GF.5, 18 GF.15 slaflsd DIHe GUMETLTLIENLIS HT60IH.

40. A right circular cylindrical container of base radius 6 cm and height 15 cm is full of ice cream. The

ice cream is to be filled in cones of height 9 cm base radius 3 cm, having a hemispherical cap. Find
the number of cones needed to empty the container.
6 QF15 b wBED 15 GF.16 2 wrb O&TEHL @M 2 HmeTalgalll UTHHTHEH0 (LPIYeUSHIeITsHLl
UBInD 2 _6eNEl. DibHl  LeNbamlpnendl, dmibl] LBBID SnIHEHmend Reneiibd | 6)IgeaId S 60
BIiuiu@GaEsgl. Faibiler @ wgd 9 GF.15 WwBmId WIID 3 GF.15 eefed, LITHHTHH6L 2616 List Hanemip
BTl 615Hm6n  FnlDL|E6iT CHemeu?

41. The following table gives the values of mean and variance of heights‘@and weights of the 10t
standard students of a school. Which is more varying than the other.
eitemid i Leiemswiulsd @@ Usitefluleln LSSHMD eI@Lli omewiouTdellesr 2 wirid WBmIDd eTenLderle
gyrafl  oBpid  olevdss  alfbs  FITFf  Hlul  wEHlseT CETHSSLLIL (BeiTemer.  Seumled 61
LBOBTeNB el iHe Caupurd 2 enLwigH?

height / = wgd Weight / stenL
Mean / synaf 155 e/ G516 46.50 kg/ £.8
Variance / olevss asssirefl | 72.25.cm?y/ 051 28.09 kg? | &.8°

42. A coin is tossed thrice. Find the probability of getting exactly two heads or at least one tail or two
consecutive heads.

@@ [BTCIOTULID clpeiiml (ewm 6wl LILBAB&E. Fults SJenih HMEVH6T DeVVEH GHMBHSLIL FID @

U oI6060& SIbSHHBHSH QTenih FHenevsHein, HlenL LILSHBEHTEN HHDHHMEUD HT6TIH.

PART - IV/ ugd -1V
Answer the following. Sipssramid elamésensa alenL welfldsaL. 2x8=16
43.a) Two triangles QPR and QSR, right angled at P and S respectively are drawn on the same base on
the same side of QR. If PR and SQ intersect at T. Prove that PT X TR = ST X TQ.

3) QR-23 Sliissrss . Osmem @Qm (pHGsmemmisst QPR wBmid QSR-e1 Lsieisst P oBmid
S-60  OQFmBsTeumisenid. oenwhHisTener. Q®m  (WHCHTmEEHD  QR-01 @8y uHsSHBHL
Simwbgleinener.. PR wBmio SQ el  udbsmisen Teeip  LsieMulled Fhaldalemsen — sleollev,
PT XTR =ST X TQ oo Bpie)s. (OR)

b)_.Draw a circle efdiameter 6 cm from a point P, which is 8 cm away from its centre. Draw the
twotangents PA and PB to the circle and measure their lengths.

1) 6 OF.16 el L (sl eIl LD aushJhdl eIl L HAHl6 emuihHsHedmbas 8 OF.15 Oxmensvelsy P st6iims
weiteflenuis  Gnldsaln. oisTefuledmbs  PA wBmpid PB sieis Q®m OHTGEHTBH6T  alenhHEH
SIQIMBIETT HeMbIGmeN  DieTe(Hb.

44.a) Draw the graph of y = x? — 5x — 6 and hence solve x> — 5x — 14 = 0.

) Y=x2—5x—6 —61 euMIULID eIOIHSH, SN LWSLGHS x% — 5x — 14 =0 a6
FOGUTL DL & HTHHO|LD. (OR)

b) A car left 30 minutes later than the scheduled time. In order to reach its destination 150 km
away in time, it has to increase its speed by 25 km/hr from its usual speed. Find its usual speed.

) @ HWHH  LpLuL Ceuswngwl CBIHHeImbH 30 HOLID SHToHorsl UBiULL . 150 &8
FMHAe0 2_6ien CFMUILHendHF Fflimen CHIHHeL CFemenL il SiHaIeNL U IPSHHLOT6 CaldhhHmd
ewNd@ 25 .16 HsLLBGHS CousmnguimbeHdl 616lev, L&(HAH6 UpHHLOTE CoubHm®Hd HT6wIH.
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